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The following table shows the income and expenditure (in ¥ millions) of a certain Company during
the five years from 2018 - 2022, along with profit % and loss % incurred in all these years. Some
values are missing in the table (indicated by ') that you are expected to calculate if required.
Based on the data in the table, answer the questions that follow.

Year-wise Income, Expenditure and Profit/Loss of a Company

Year |Expenditure (in3 millions) | Income (in¥ millions) | Profit %(+) / Loss %()
2018 192 . +15%

2019 248 = s

2020 210 . +20%

202 - 359.6 :

2022 £ : -12%

Sub questions

Question Number : 1 Question Id : 87827020703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Profit in 2020 is % more than in 2018 :
(1) 56.76

(2) 44.98

(3) 45.83

(4) 59.82
Options :

87827081941. 1
87827081942. 2
87827081943. 3

87827081944. 4

Question Number : 2 Question Id : 87827020704 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

[n 2022, if the expenditure of company was 15% more as compared to 2019, then the income of the
company in 2022 was (in < million) :

(1) 250976

(2) 248.976

(3) 250936

(4) 230.936
Options :
87827081945. 1
87827081946. 2
87827081947. 3

87827081948. 4

Question Number : 3 Question Id : 87827020705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[£ the loss incurred by the Company in 2019 was ¥33.2 million more than the profit of the Company
in 2018, then the loss percent incurred by the Company in 2019 was :

) 17%
) 2%
) 25%
) 23%
Options :
87827081949. 1
87827081950. 2
87827081951. 3

87827081952. 4

Question Number : 4 Question Id : 87827020706 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

[n 2021, if the profit percent (%) of the company was higher by 60% of the profit percent (%) in
2018, then the percent increase (approximately) in the expenditure of the Company in 2021 as
compared to the previous year would be :

1) 4%
Q) H%
(3) 41%
@) 38%
Options:

87827081953. 1
87827081954. 2
87827081955. 3

87827081956. 4

Question Number : 5 Question Id : 87827020707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

What is the average of the income of the Company in 2018 and 2020 (in < million) ?
1) 2208
) 2364
3) 2522
4)  246.6

2

— — |

Options :

87827081957. 1
87827081958. 2
87827081959. 3
87827081960. 4



Question Id : 87827020702 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 87827020703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

2020 H B3 &9 2018 & &9 § fehdd % Af¥eh g2

(1) 56.76
(2) 44.98
(3) 45.83
(4) 59.82

Options :

87827081941. 1



87827081942. 2
87827081943. 3

87827081944. 4

Question Number : 2 Question Id : 87827020704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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4) 230.936
Options :
87827081945. 1
87827081946. 2
87827081947. 3

87827081948. 4

Question Number : 3 Question Id : 87827020705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

% 2019 a9 g A 2018 H F % 7 8 2 35,2 Faferm o o, 1 bt 1 019§ E A
1 YR e on?

1) 17%

) 2%

) 5%
)

(
3
W 2%

Options :



87827081949. 1
87827081950. 2
87827081951. 3

87827081952. 4

Question Number : 4 Question Id : 87827020706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827081953. 1
87827081954. 2
87827081955. 3

87827081956. 4

Question Number : 5 Question Id : 87827020707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

2018 3iX 2020 H Ut w ofEa e  fafem #) forat 22

(1) 2208
(2) 2364
(3) 2522
(4) 246.6

Options :



87827081957. 1
87827081958. 2
87827081959. 3

87827081960. 4

Sub-Section Number : 2
Sub-Section Id : 878270924
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 87827020708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The organised bodies of information stored in memory that bias the way new information is
interpreted, stored, and recalled is known as

(1)  Constructive process
) Schemas
3)  Chunks
)

Association
Options :
87827081961. 1
87827081962. 2
87827081963. 3
87827081964. 4

Question Number : 6 Question Id : 87827020708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827081961. 1
87827081962. 2

87827081963. 3
87827081964. 4

Question Number : 7 Question Id : 87827020709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are the components of pedagogical analysis of teaching and learning ?
(A) Objective formulation

(B) Selection of teaching methods and materials

(C) Content analysis

(D) Selection of evaluation devices

Choose the correct answer from the options given below :
(1) (B), (€)and (D) Only

() (A) and (D) Only
(3) (A) () (C)an (D)
(4) (B)and (C) Onl
Options :

87827081965. 1
87827081966. 2

87827081967. 3



87827081968. 4

Question Number : 7 Question Id : 87827020709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827081965. 1
87827081966. 2
87827081967. 3

87827081968. 4

Question Number : 8 Question Id : 87827020710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I:  In teacher centred learning the teacher gives up the traditional decision making
role and chooses instead the role of a facilitator who focuses on students feelings.

Statement I In learner centred method the teacher attempts to see the world as the students
see it, creating an atmosphere of empathetic communication.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement IT are correct
2

2
(3) Statement I is correct but Statement I is incorrect
4

Both Statement I and Statement II are incorrect

Statement [ 15 incorrect but Statement II is correct
Options:

878270819609. 1

87827081970. 2

87827081971. 3

87827081972. 4

Question Number : 8 Question Id : 87827020710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827081969. 1
87827081970. 2
87827081971.3

87827081972. 4

Question Number : 9 Question Id : 87827020711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I:  Theability o generate unusual, yet appropriate, responses to problems or questions
15 known as convergent thinking,

Statement IT :  The ability to produce responses that are based primarily on knowledge and logic
is known as divergent thinking,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement IT are correct
2

2
(3) Statement I is correct but Statement I is incorrect
4

Both Statement I and Statement II are incorrect

Statement [ 15 incorrect but Statement II is correct
Options:

87827081973. 1

87827081974 2

87827081975. 3

87827081976. 4

Question Number : 9 Question Id : 87827020711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827081973. 1
87827081974. 2
87827081975. 3

87827081976. 4

Question Number : 10 Question Id : 87827020712 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : No test provides a perfect picture of a student's abilities and skills.
Reason (R) : A test s only one small sample of a student's performance,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct
(4) (A)is not correct but (R) is correct

Options:

87827081977. 1

87827081978. 2

87827081979. 3

87827081980. 4

Question Number : 10 Question Id : 87827020712 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :



87827081977.1
87827081978. 2
87827081979. 3

87827081980. 4

Question Number : 11 Question Id : 87827020713 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An epistemological position that advocates the application of the methods of the natural sciences
to the study of soctal reality and beyond, refers to

(1) Positivism

2)  Interpretivism
3)  Objectivism

)

(
(
l

Constructionism
Options :
87827081981. 1
87827081982. 2
87827081983. 3

87827081984. 4

Question Number : 11 Question Id : 87827020713 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827081981. 1
87827081982. 2
87827081983. 3
87827081984. 4

Question Number : 12 Question Id : 87827020714 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the similarities between quantitative and qualitative research :
(A) Both are concerned with data reduction.

(B) Both are concerned with variation in data.

(C) Both lay emphasis on contextual understanding,

(D) Both lay emphasis on generalization.

(E) Both are concerned with answering research questions.

Choose the correct answer from the options given below :

(1) (A) and (D) Only

(2) (A), (B), (D) and (E) Only
(3) (B) (D) and (E) Only

(4) (A), (B) and (E) Only
Options :

87827081985. 1

87827081986. 2



87827081987. 3
87827081988. 4

Question Number : 12 Question Id : 87827020714 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827081985. 1
87827081986. 2
87827081987. 3

87827081988. 4

Question Number : 13 Question Id : 87827020715 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dentify the correct reasons for writing a literature review :
A) You need to know what is already known in connection with your research area.

I

(

(B) It may help you to develop an analytic framework.
(C) It will help with the interpretation of your findings.
(D) It may suggest further research questions for you.

Choose the correct answer from the options given below :
(1) (A)and (B) Only

(2) (B), (C) and (D) Only
(3) {A) () and (D) Only
(4 (4), (B) () and (D)
Options:

87827081989. 1
87827081990. 2
87827081991. 3

87827081992. 4

Question Number : 13 Question Id : 87827020715 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827081989. 1

87827081990. 2

87827081991. 3
87827081992. 4

Question Number : 14 Question Id : 87827020716 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[dentify the sampling issues that are problematic in online surveys :
(A) Many people use more than one internet service provider.

(B) Every person has only one (unique) email address.

(C) A house hold may have one computer but several users.
(D) Internet users are a biased sample of the population.
Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2)  (B), (C) and (D) Only
(3) (A), (B)and (D) Only
(4)  (A), (C) and (D) Only
Options:

87827081993. 1
87827081994. 2
87827081995. 3

87827081996. 4

Question Number : 14 Question Id : 87827020716 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827081993. 1
87827081994. 2
87827081995. 3

87827081996. 4

Question Number : 15 Question Id : 87827020717 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which among the following is an open source software for data analysis ?
(1) SPSS

(2) MATLAB
3) R

(4) MINITAB
Options :
87827081997. 1
87827081998 2

87827081999. 3



87827082000. 4

Question Number : 15 Question Id : 87827020717 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827081997. 1

87827081998. 2

87827081999. 3

87827082000. 4

Question Number : 16 Question Id : 87827020718 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

When the primary function of communication is to convey new information, it is known as
1) Subliminal function

8 Single task function
(3) Referential function
(4) Differential function
Options :
87827082001 1
87827082002. 2

87827082003. 3



87827082004. 4

Question Number : 16 Question Id : 87827020718 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082001. 1
87827082002. 2
87827082003. 3

87827082004. 4

Question Number : 17 Question Id : 87827020719 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

One of the four maxims of conversation, quantity maxim, reflects the right amount of :
(1) Paradigms

(2) Syntagms

(3) Similes
(4) Information
Options :
87827082005. 1
87827082006. 2

87827082007. 3



87827082008. 4

Question Number : 17 Question Id : 87827020719 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082005. 1
87827082006. 2
87827082007. 3

87827082008. 4

Question Number : 18 Question Id : 87827020720 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following contextual factors determine meaning in communication behaviour ?
A)  Physical locafion

B) Participants

(
(
(C) Preceding events
(D) Nonfunctional goals
(E) Absence of audience

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

() (B), (C) and (D) Only
() (C), (D) and (E) Only
(4) (A), (D) and (E) Only
Options :

878270820009. 1
87827082010. 2
87827082011. 3

87827082012. 4

Question Number : 18 Question Id : 87827020720 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827082009. 1
87827082010. 2
87827082011.3

87827082012. 4

Question Number : 19 Question Id : 87827020721 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following belong to the field of proxemics in communication ?
(A) Facial expressions
(B) Crowding
(C) Territoriality
(D) Personal space

(E) Eye contact

Choose the correct answer from the options given below :
(1) (A), (B) and () Only

(2)  (B), (C) and (D) Only
(3) (C), (D) and (E) Only
(4) (A) (D) and (E) Only
Options:

87827082013. 1
87827082014. 2
87827082015. 3
87827082016. 4

Question Number : 19 Question Id : 87827020721 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafad # 9 -9 =R 4 gHe fomn & &5 9 et € 2

(A) HEH FEE

(B) fe-wre

(C) YIewiHa

(D) SAfemTd &

(E) =g Hh

i feu 1 fosedl ° 9 WEr I F T FifC:

(1) < (A), (B) 3T (C)

(2) 94 (B), (C) 3 (D)

(3) < (C), (D) SR (E)

(4) I (A), (D) 3R (E)
Options :

87827082013. 1
87827082014. 2
87827082015. 3

87827082016. 4

Question Number : 20 Question Id : 87827020722 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : - According to Buddhism, linguistic communication should be used to adopt moral
stance.

Statement (1) : Critical introspection is not preferred by Buddhists as part of intra-personal
communication.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement I is correct but Statement I1 is incorrect.
4

Both Statement [ and Statement II are incorrect.

Statement [ s incorrect but Statement II is correct.
Options:

87827082017. 1

87827082018. 2

87827082019. 3

87827082020. 4

Question Number : 20 Question Id : 87827020722 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g A fem E:
HL: A o o R, ST SR 1 e A 9 A i o o o frn o e

TR A 2 ST e & sl don o e & w0 o oo 7 & 9
2l

T O o i , A fou T ol ¥ 9 W S 9 @i
(1) B HR I T2

(2) TR B IS o €

() FRITA §, o w11 9 2|

(4) TR R 3, T R 1 2



Options :

87827082017. 1
87827082018. 2
87827082019. 3

87827082020. 4

Question Number : 21 Question Id : 87827020723 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[n an arithmetic series having 50 terms, the first and last terms are 3 and 199, respectively, What is
the sum of the series ?

(1) 4950
Q) 3050
B) 5150
@) 4850

H=

Options:

87827082021. 1
87827082022. 2
87827082023.3

87827082024. 4

Question Number : 21 Question Id : 87827020723 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

50 Vel el T e et H Jom o St 08 A 3 AT 199 € 36 Sl & AW # g
(1) 4950
(2) 5050
(3) 5150
(4) 4850



Options :

87827082021. 1
87827082022. 2
87827082023. 3
87827082024. 4

Question Number : 22 Question Id : 87827020724 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the next term (?) in the following letters series AM, GJ, MG, SD, 7, ...
(1) XZ

Options:

87827082025. 1
87827082026. 2
87827082027.3

87827082028. 4

Question Number : 22 Question Id : 87827020724 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fe S1ar Sf@el § el Ug (?) o1 vl @ |
AM, G] MG, SD, , ..oovme.

(1) XZ
(2) YC
(3) XA
(4) YA



Options :

87827082025. 1
87827082026. 2
87827082027.3
87827082028. 4

Question Number : 23 Question Id : 87827020725 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The sum and difference of two numbers are 19 and 7, respectively. What is the sum of their
squares ?

) 190
) 200
) 205
) 210

3

1
2
k
(4
Options:

87827082029. 1
87827082030. 2
87827082031.3

87827082032. 4

Question Number : 23 Question Id : 87827020725 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T HET AN T SR FH: 19 SR 7 § 1 37H G H AT F R ?
(1) 190
2) 200
3) 205
)

(
(
(4) 210



Options :

87827082029. 1
87827082030. 2
87827082031.3
87827082032. 4

Question Number : 24 Question Id : 87827020726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A certain sum of money doubles in 4 years at a compound rate of interest per annum. The rate of

interest is [Given ; 2/2 = 1414, 2/ = 1.1892)

1) ~149%

Q) ~168%
3) ~189%
(4

S |

) ~12.9%
Options:
87827082033. 1
87827082034. 2
87827082035. 3

87827082036. 4

Question Number : 24 Question Id : 87827020726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T ST e TRt T e 1 AR oY G @ W ¢

(954 : 21/2 =1414, 21/4=11892)

(1) ~14.9%

(2) ~16.8%
(3) ~18.9%
(4) ~12.9%
Options:
87827082033. 1
87827082034. 2
87827082035. 3

87827082036. 4

Question Number : 25 Question Id : 87827020727 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A train moving at a speed of 63 kmy/hr enters a railway station and crosses the platform in 20 s,
If the length of the train is 100 m, what is the length of the platform ?

1) B0m
2 Mm
3 B0m
4 30m

Options :

87827082037. 1
87827082038. 2
87827082039. 3
87827082040. 4

Question Number : 25 Question Id : 87827020727 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

63 F 7/ T 0 T8 O S T A W o € 4R e 6 208, 5 R
?Ihiamaaﬁaamoﬁaé,wmﬁmﬁmﬂ?
150 Fiet

Options :

87827082037. 1
87827082038. 2
87827082039. 3

87827082040. 4

Question Number : 26 Question Id : 87827020728 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As per square of opposition which of the following propositions are so related that if one of them
is true, the other must be false and vice-vessa ?

(A)  All mammals are vertebrates,

(B) No mammals are vertebrates.

(C) Some non mammals are not vertebrates.

(D) Some mammals are not vertebrates.

Choose the correct answer from the options given below :
o) (¢ ()Onlv

@) (4and (O)On

(3) (A)and (B) Only

(4) Q) and (D) Only

Options :

87827082041. 1



87827082042. 2
87827082043. 3

87827082044. 4

Question Number : 26 Question Id : 87827020728 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fote a1 % oy et 9 i 9 7 o 3 e e € o o 5 9 0 & o e
9 T A fefe €7

(A) W we BE) 2 2

(B) S o TR e ) 2 ¢

(C) F8 - W] 74l 20 ¢

(D) 9 T HeE) 7 2 €

aﬁéﬁwﬁwﬁ'ﬁﬁuﬁmﬂwﬁm

{ A) 3 D)
2 T (C)
(
(

=
~+ & =
)

(
(
3) |
4

=

B
D

—

)
)
)
)

R

)
El
) AR

=

C
Options :

87827082041. 1
87827082042. 2
87827082043. 3
87827082044. 4

Question Number : 27 Question Id : 87827020729 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are logically equivalent ?
(A) No liquids are beverages.

(B) No beverages are liquids.
(C) All non-beverages are non-liquids.
(D) All non-liquids are non-beverages.
Choose the correct answer from the options given below :
(1) (A) and (B) Only
(2) (A)and (C) Only
(3) (B) and (D) Only
(4) (C) and (D) Only
Options:
87827082045. 1
87827082046. 2
87827082047. 3

87827082048. 4

Question Number : 27 Question Id : 87827020729 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



=1 5 9 o9 | FeF aifthe 99 979 € 2
(A) FIE it T T wered T B

(B) hrs i U UeTe TR &I B ¢

(C) Gsft R-U7 yered IR-A B B |

(D) B\eft TR-a 1R-97 uered & B

9 fau Tu fasredl § 9 WEr ST 1 =TT HIfC:
(1) =had (A) TR (B)

(2) HFA (A) 3R (Q)
(3) ad (B) ¥R (D)
(4) FEE (C) R (D)
Options :

87827082045. 1
87827082046. 2
87827082047. 3

87827082048. 4

Question Number : 28 Question Id : 87827020730 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the statement “Some rectangles are not squares” is given as true, then according to the square of
opposition which of the following statements can by immediately inferred to be false ?

(1) All rectangles are squares,

(2) Some rectangles are squares,

(3)  No rectangles are squares.
e

4)  Some squares are not rectangles.
Options :
87827082049. 1

87827082050. 2



87827082051. 3

87827082052. 4

Question Number : 28 Question Id : 87827020730 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7 TR 59 9 T A0 ¢ 9 6 WA IR ¢ foe o o g e 4§ fom A 9
TR A ST fo o el )

(1) 6 o B

) T3 g E

() 4 o o 7 2 2
(4) 8 T 9 TR 2 ¢

Options :

87827082049. 1
87827082050. 2
87827082051. 3

87827082052. 4

Question Number : 29 Question Id : 87827020731 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

"More laws have been added on the books in past five years than ever before, yet the number of
crimes committed during the same period has significantly increased. Therefore, to bring the crime
tate down, we must eliminate the laws”. Which fallacy is committed in the above statement ?

(1) Red herring

2) Straw man

3)  Slippery slope
4)  False cause

(
(
(



Options :

87827082053. 1
87827082054. 2
87827082055. 3

87827082056. 4

Question Number : 29 Question Id : 87827020731 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"o e o e f e o el e s e e 0 ety i e 6 S e
1 5 I 9 3 19 A A o o e o e | S

Options:

87827082053. 1
87827082054. 2
87827082055. 3

87827082056. 4

Question Number : 30 Question Id : 87827020732 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : - According to classical Indianschool of logic(Nyiya) the argument “Sound s eternal
because it is audible” is fallacious.

Statement (1) : According to classical Indian school of logic the argument “Sound is eternal
because it is audible” commits the fallacy of irregular middle term where the
middle term is too wide.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct,
2

(2) Both Statement I and Statement IT are incorrect.
(3) Statement 1 is correct but Statement I1 is incorrect
4

4)  Statement I is incorrect but Statement II is correct,

Options:

87827082057. 1
87827082058. 2
87827082059. 3
87827082060. 4

Question Number : 30 Question Id : 87827020732 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



4 ) A foU T
WO 1: ST A P o o o 3 e & i 7 e e 9 e ¢

FURI1: T IR 27 7 & R e IV & i 7% 9 ¢ 4 e 04
Y ¢ 7 99 G o4 oA

TS B % e H, el o0 T o] A 9 R SR A
(1) TR TR T

() 1R HR IS o £

) FMIT §, et Ho 11 00 21

) TR A £, o o 1L 2

Options :

87827082057. 1

87827082058. 2

87827082059. 3

87827082060. 4

Question Number : 31 Question Id : 87827020733 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In comparison to secondary computer storage, primary storage is :
(1) Slower, more expensive per unit of storage and persistent
(2) Faster, less expensive per unit of storage and persistent
(3) Faster more expensive per unit of storage and not persistent
(4) Faster, less expensive per unit of storage and not persistent
Options :

87827082061. 1

87827082062. 2

87827082063. 3

87827082064. 4



Question Number : 31 Question Id : 87827020733 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
fgdiorer HogeX JYeRU &1 qor §, Wi ser
(1) e, wfg e dero sifier weien ik gad € S
(2) i, 9fd gfe sieru F9 weien SR gaqd g §|
(3) g, fd e sierw sifusw wiien IR gad =& e g1
(4) =, 9fd gfe vero w9 Gt IR gad & e ¢ |
Options :
87827082061. 1
87827082062. 2

87827082063. 3
87827082064. 4

Question Number : 32 Question Id : 87827020734 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A security system records video footage. One minute of video requires 180 MegaBytes of storage.
The recording system can store several hours of video footage. How much storage would be needed
for 2 hours of video footage ? (1k =1024) :

(1) 192 Giga Bytes
(2) 203 Giga Bytes
(3) 211 Giga Bytes
(4) 224 Giga Bytes
Options:

87827082065. 1
87827082066. 2

87827082067. 3



87827082068. 4

Question Number : 32 Question Id : 87827020734 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T U T el ey () e e €1 O e ol f T st 190 e
SR it 1 e o o W2 3 o o s o T §12.98 % e 3 faw
fo e T A SR 27 (1k=1024)

1) 192 TeEe
) 203 ek
) 211 TR
) 204 TIREE

Options :

a2

(
2
g
(4

87827082065. 1
87827082066. 2
87827082067. 3

87827082068. 4

Question Number : 33 Question Id : 87827020735 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
If (P)g represents the number P in base - 8, then (144)s + (175)q =

(1) (225)4
(2) (341)g
(3)  (441)
(4) (314)q
Options :

87827082069. 1



87827082070. 2
87827082071. 3

87827082072. 4

Question Number : 33 Question Id : 87827020735 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g (P)g 99 - 8 H P =l T €, dI(144)g + (175)g =

(1) (225)g
(2) (341)4
(3) (441)g
(4) (314)g
Options :

87827082069. 1
87827082070. 2
87827082071. 3
87827082072. 4

Question Number : 34 Question Id : 87827020736 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : IPv6 address in computer networking is 4 times larger than an [Pv4 address

Statement (I1) : The IP address gives the location of a device on the Internet, whereas the MAC
address identifies the device connected to the Internet

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct,
2
3
(4

) Both Statement I and Statement II are incorrect.
) Statement I is correct but Statement 11 15 incorrect.
)

Statement I is incorrect but Statement II is correct,

Options:

87827082073. 1
87827082074. 2
87827082075. 3
87827082076. 4

Question Number : 34 Question Id : 87827020736 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g A ferm E:

WO (1) O Yo [Pvd T 1 T [Pt TS 4 T 991 2 ¢

®OA (1) [P UG 20 W fo 97 ) afiefs Ve 0 € 0% MAC U TR 8§ e A
Rl 4 £

TS 9 35 e A, A for T fovedt 2 W A

(1) B HR I T2

(2) TR B IS o €

() FRITA §, o w11 9 2|

(4) TR R 3, T R 1 2



Options :

87827082073. 1
87827082074. 2
87827082075. 3

87827082076. 4

Question Number : 35 Question Id : 87827020737 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Match List - T with List - IL

List - I List - II
(Graphical User Interface Term) (Description)
(A) Window () Represents a folder or a progtam - can be seen
within a window or free standing on screen
(B) Icon () Contains lists of options for a certain program
(C) Menu () Used toselect menu options/icons/ close/open
windows
(D) Pointer (IV) Represents an area on the screen that displays

information for a specific program
Choose the correct answer from the options given below :

(1) (AR, (BMD (CH{ID, DHIV)
) (BHIV), (CA

(2) (Al ) (DA
(3) (ARIV), (BHD) (CHID), (DM
(4 (AMT), (B)-{), (CHLV), (DHI)
Options:

87827082077. 1
87827082078. 2
87827082079. 3

87827082080. 4



Question Number : 35 Question Id : 87827020737 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Tl § 11 91 o aifee;

Tl Tl
(T3 TeleRT SIS ) (o)

1) fig () T 4o T 51 291 € - ffg) o e afee o
R 9 8 9 9 ¢

B & (1) 39 forh T &g e 1 et €

0 W (1) 38 T ¥, frey e el e el o 7
o foe fon s &1

D) &R (IV) B T & e ot & o o o feo
) & &

At few T foedl o 9 T I 9 A

(1) (AW, (B0, (CHID, (DHIV

(2) (AKD), (B-V), (CHI), (DA

(3) (ANIV), (B, (CHI). (DA

(4 (AKD, B}0, (O4IV), (DA

Options :

87827082077. 1
87827082078. 2
87827082079. 3

87827082080. 4

Question Number : 36 Question Id : 87827020738 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are true about Producer Gas ?
A) Ttis the result of conversion of solid biomass into gaseous fuels.

(
(B) Itis done at lower temperature.

(C) It can be used as fuel in internal combustion engines.

(D) Itis produced in the complete absence of oxygen.

(E) Hydrogen and methane present in Producer Gas determine its heating value.
Choose the correct answer from the options given below :

(1) (4), (B)and (C) Only

(2)  (B)and (D) Only
(3) (C), (D)and (E) Only
(4) (), (C)and (E) Only
Options:

87827082081. 1
87827082082. 2
87827082083. 3

87827082084. 4

Question Number : 36 Question Id : 87827020738 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e T & A | Fretfeted § & PH-9 98§

(A) 7 3 99 Tefa ¢ et fom & Wi 7 ¥iowd g

(B) @ UM R ol ST €

(C) 3w WA STk Cg 3919 W 38 o %Y ¥ fohel & el € |

(D) 8 aieier o forl e foen 1l &1

(F) e g ¥ suftery/fed areion oiR o e o fruifid &% €
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{ (A), (B) & (C)
2

3
(

)
)
)
4)
Options:

87827082081. 1
87827082082. 2
87827082083. 3

87827082084. 4

Question Number : 37 Question Id : 87827020739 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The convention on biological diversity is dedicated to promote sustainable development conceived
as a practical tool for translating the principles of :

(1) Agenda 20
(2) Agenda2]
(3) Agenda 22
(4) Agenda 23

Options :

87827082085. 1



87827082086. 2
87827082087. 3

87827082088. 4

Question Number : 37 Question Id : 87827020739 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e fafaem e fe fagi ) wrfen < & fod oo / fTes e & %9 4 e
T foe 1 9 ¢  felt Wi 7

()

) g
() A 2
) B
Options :

87827082085. 1
87827082086. 2
87827082087. 3

87827082088. 4

Question Number : 38 Question Id : 87827020740 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is the correct sequence of steps followed from initial to last during water treatment process ?
(A) Coagulation

(B) Filtration

(C) Screening

(D) Sedimentation

Choose the correct answer from the options given below :

(1) 0)©) B) (4)

2) (D) (), (&) ()
3 (€. 0) ) 6)
(4) (O O) (B), (&)
Options:

87827082089. 1
87827082090. 2
87827082091. 3

87827082092. 4

Question Number : 38 Question Id : 87827020740 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T S Y o U SR T et e o e (e ) afem) o o s

(A) e

B) e

(€)

D)

A fe 0 feeredl o WY O A T @i
(1) () (©) (B) (A)

2 (D) (©) )@

3) (© ) (A) B

4 (© ) B) (A)



Options :

87827082089. 1
87827082090. 2
87827082091. 3
87827082092. 4

Question Number : 39 Question Id : 87827020741 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : DDT bioaccumlates in tissues of many species including humans.
Reason (R) :  DDT is relatively insoluble in water but readily soluble in fats and ofs.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct
4

4)  (A)is not correct but (R) is correct

Options:

87827082093. 1
87827082094. 2
87827082095. 3

87827082096. 4

Question Number : 39 Question Id : 87827020741 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082093. 1

87827082094. 2

87827082095. 3

87827082096. 4

Question Number : 40 Question Id : 87827020742 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements ;

Statement (1) : Millennium Development Goals (MDGs) were mainly targeted at developing or
poor countries.

Statement (I1) : Sustainable Development Gaols (SDGs) are targeted at all countries whether
developed, developing or poor.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect,
(3) Statement I is correct but Statement I1 is incorrect.
(4)  Statement I is incorrect but Statement I1 is correct.

Options :



87827082097. 1
87827082098. 2
87827082099. 3

87827082100. 4

Question Number : 40 Question Id : 87827020742 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082097. 1

87827082098. 2

87827082099. 3

87827082100. 4

Question Number : 41 Question Id : 87827020743 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following was recommended by the Hunter Commission ?

(1)  Abolition of higher education in India

(2) Restricting women's entry into colleges

(3) Participation of private enterprise in higher education

(4) Encouraging establishment of more and more public universities in rural India
Options:

87827082101. 1

87827082102. 2

87827082103. 3

87827082104. 4

Question Number : 41 Question Id : 87827020743 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

B AT B @ fw o)
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(4) R o T & ° e § At SRR fovafaRer 1 T S e o |
Options :

87827082101. 1

87827082102. 2

87827082103. 3
87827082104. 4

Question Number : 42 Question Id : 87827020744 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The University of Punjab was established at lahore in 1882 to reduce the burden of the university
of :

) Bombay
) Calcutta
) Madras
) Himachal Pradesh

1
2
3
(4
Options:

87827082105. 1
87827082106. 2
87827082107.3

87827082108. 4

Question Number : 42 Question Id : 87827020744 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

1233

Options :

87827082105. 1
87827082106. 2
87827082107.3
87827082108. 4

Question Number : 43 Question Id : 87827020745 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
Which of the following steps were taken by the university grants commission during the second
five year plan?
[ntroduction of three-year degree course
B) Improvement in libraries and laboratories

D) No new departments were approved in the universities

(

(

(C) Increase in the salaries of universiry teachers
(

E

—

Hindi was made the optional medium of instruction besides local languages in all Indian
universities
Choose the correct answer from the options given below :

(1) (&), (B) and (C) Only
(2)  (B), (C) and (D) Only
) (C), (D) and (E) Only
(4) (A), (D) and (E) Only
Options :

87827082109. 1
87827082110. 2
87827082111.3

87827082112. 4

Question Number : 43 Question Id : 87827020745 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082109. 1

87827082110. 2

87827082111.3

87827082112. 4

Question Number : 44 Question Id : 87827020746 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following research institutes were established between the first and third five year
plans ?

(A) Indian Institute of Science

(B) Saha Institute of Nuclear physics

(C) Lok Bharati

(D) Gandhi Gram Rural Institute

(E) Raman Research Institute

Choose the correct answer from the options given below :
(1) (), (B)and (C) Only

(2) (A), (D) and (E) Only

(3) (B),(C) and {£) Only

(4) (8)(C)and (D) Ony

Options :

87827082113. 1
87827082114. 2
87827082115.3

87827082116. 4

Question Number : 44 Question Id : 87827020746 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827082113. 1
87827082114. 2
87827082115.3

87827082116. 4

Question Number : 45 Question Id : 87827020747 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : The Nalanda University of ancient India attracted students from various parts of
Asia,

Statement (II) : The Nalanda University was overshadowed by the universities in Europe and
Arabia immediately after its establishment.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement I is correct but Statement I1 is incorrect.
4

Both Statement [ and Statement II are incorrect.

Statement [ s incorrect but Statement II is correct.
Options:

87827082117. 1

87827082118. 2

87827082119. 3

87827082120. 4

Question Number : 45 Question Id : 87827020747 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082117. 1
87827082118. 2
87827082119.3
87827082120. 4

Sub-Section Number : 3
Sub-Section Id : 878270925
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827020748 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage carefully and answer the questions :

The most important part of a person’s life is his childhood. The learning our young citizens receive
at home, in school and in society between the ages of five and sixteen will shape them for the rest
of their Lives. during this phase, they need a good value based education to become enlightened
human beings.

Parents and teachers need to have an integrated mission : education with a good value system at
home and in school. Education is fundamental to building the nation of our dreams. All our
aspirations as a society are tied to the capabilities of our youngsters, who form such a large part of
our population.

A child's individuality and creativity need to be given due importance in our education. The
curriculum needs to be mnovative and the examination system overhauled so that it recognizes
and evaluates creativity and new thinking rather than the memorization of facts. Schools must
move away from being centres of education alone, instead becoming centres of knowledge and
skill development.

Sub questions

Question Number : 46 Question Id : 87827020749 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A child becomes an enlightened human being as a result of the value based education received ;
(A) At home only

(B) Inschool only

(C) At home, in school and in society
(D) Insociety only

(E)  Between the ages of five and sixteen

Choose the correct answer from the options given below :
(1) (4) &(E) Only

2 WDk ()Only
) ()& (E)Onl

4 (A& ()OHIY
Options :

87827082121.1
87827082122. 2
87827082123. 3

87827082124. 4

Question Number : 47 Question Id : 87827020750 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is essential for building the nation of our dreams ?
(1) More schools
Value based education

—
L3 D
e

(
(

Options:

) Democracy
) Rapid Urbanization

=

87827082125. 1

87827082126. 2



87827082127. 3

87827082128. 4

Question Number : 48 Question Id : 87827020751 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Who need to have an integrated mission : education with a good value system at home and in
school ?

(1) Politicians

(2) Philanthropists

(3) Parents and Teachers
(4)  Businessmen
Options:
87827082129. 1
87827082130. 2
87827082131. 3

87827082132. 4

Question Number : 49 Question Id : 87827020752 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A good examination system should :

(A) Recognize a child’s creativity

(B) Recognize a childs individuality

(C) Encourage rote learning

(D) Encourage new thinking

Choose the correct answer from the options given below :
(1) (A), (B) & (D) Only

(2)  (B) & (C) Only

(3) (A), (B) & (C) Only
(4) (O & (D) Only
Options:

87827082133. 1
87827082134. 2
87827082135. 3
87827082136. 4

Question Number : 50 Question Id : 87827020753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [:  Schools should only be centres of education.
Statement IT:  Youngsters form a minimal part of our population.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect,
(3) Statement s correct but Statement I1 is incorrect.
(4)  Statement s incorrect but Statement 11 is correct
Options :

87827082137. 1



87827082138. 2
87827082139. 3

87827082140. 4

Question Id : 87827020748 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827020749 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T a1 i 9 Fgl W Y R e T 0 o ey T YA T 9 ¢/
(A) oA

(B) et T H

(C) R, foerer o 9 el o

(D) e §HE |

(E) U4 3 Siete 3 1 7Y &

e feu T foepedt H 9 e S A T Hifw

(1) % (A) R )

2) 9 (A), (D) R (B

() ¥ (C) M (E)
(4) T (A) T (B)
Options :
87827082121. 1
87827082122. 2

87827082123. 3

87827082124. 4

Question Number : 47 Question Id : 87827020750 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
AN @i o T o oo &g =1 § 9 @ afard €2
(1) 3R sferer femmmer

(2) HeasTHRd foret

(3) <Ihad

(4) ToIRd TR
Options :

87827082125. 1



87827082126. 2
87827082127. 3

87827082128. 4

Question Number : 48 Question Id : 87827020751 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082129. 1
87827082130. 2
87827082131.3

87827082132. 4

Question Number : 49 Question Id : 87827020752 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082133. 1
87827082134. 2
87827082135. 3

87827082136. 4

Question Number : 50 Question Id : 87827020753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082137. 1

87827082138. 2

87827082139. 3
87827082140. 4

Dogri
Section Id : 878270675
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1

Sub-Section Id : 878270926



Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 87827020754 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘T weg ol ‘g’ v < fvafh =
(1) =i fogea <1 fagid +9 FE ¢
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(4) = <1 fagid F9 FE T

Options:

87827082141. 1
87827082142. 2
87827082143.3

87827082144. 4

Question Number : 51 Question Id : 87827020754 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘TR’ v 9| ‘g’ vIeg < fwafa =
(1) =i fawd T fagid #@ F@ T
(2) HHIR 1 fegid @r ge ¢

(3) Tawrru o1 fagia o e ¢
(4) = <1 g FH FE T

Options :

87827082141.1



87827082142. 2
87827082143. 3

87827082144. 4

Question Number : 52 Question Id : 87827020755 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

a1 o AN € Y1 Tl S |
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(2) YSEY
(3) HE9
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Options :

87827082145. 1
87827082146. 2
87827082147. 3
87827082148. 4

Question Number : 52 Question Id : 87827020755 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:



87827082145. 1
87827082146. 2
87827082147. 3

87827082148. 4

Question Number : 53 Question Id : 87827020756 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T v 31 Ygen fore e U
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Options :
87827082149. 1
87827082150. 2
87827082151. 3

87827082152. 4

Question Number : 53 Question Id : 87827020756 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082149. 1
87827082150. 2
87827082151. 3
87827082152. 4

Question Number : 54 Question Id : 87827020757 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
A e %thTi CURERIRS I
(1) Tored, 3eferm, Aush, snfees
(2) SAIEE, dra, e, ek
(3) e, T, wifed, SHA®
(4) Taysufaa, %=, sE, sHias
Options:
87827082153. 1
87827082154. 2

87827082155. 3

87827082156. 4

Question Number : 54 Question Id : 87827020757 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options:

87827082153. 1
87827082154. 2
87827082155. 3

87827082156. 4

Question Number : 55 Question Id : 87827020758 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
"SR 99T T Uk Setsh’ o U
(1) = fegver o4l ga1
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(3) Sl SIS YT BT |
(4) SI. SH Ml gal|

Options :

87827082157. 1

87827082158. 2

87827082159. 3

87827082160. 4

Question Number : 55 Question Id : 87827020758 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

‘SRR 99T R U TR @ U
(1) =1 fagvea =i g2l
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(4) TSI SH IHi gl
Options :
87827082157. 1
87827082158. 2
87827082159. 3

87827082160. 4

Question Number : 56 Question Id : 87827020759 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(2) = wet = AR fafy = ekt |

(3) 3TeHl wet 9 Fpfea fafa = feredi |
(4) el o drHT get = 7 fafu = ekt
Options :

87827082161. 1
87827082162. 2
87827082163. 3

87827082164. 4

Question Number : 56 Question Id : 87827020759 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el fafy

(1) <qei 9&t = pfea fafy =n fere |
(2) =H bl = AR fafy = fepe |

(3) A3l wal | Ffee fafy = feket |
(4) =N d 95HT Hal =9 I ferfa =n feeed
Options :

87827082161. 1

87827082162. 2

87827082163. 3
87827082164. 4

Question Number : 57 Question Id : 87827020760 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082165. 1
87827082166. 2
87827082167. 3

87827082168. 4

Question Number : 57 Question Id : 87827020760 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

0 B ¢ T Fohrl ek = Tfeff ST G0 < et ©0 o T @ -7 i

Options :

87827082165. 1
87827082166. 2
87827082167. 3

87827082168. 4

Question Number : 58 Question Id : 87827020761 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

graeErEs a4 g A0 3TN ¢

(1) Foranfadrem Svame =1 gie1 U |
(2) fosem Suars = g

(3) Hl 3YaTH  Bia U

(4) TIFM A A BT
Options :

87827082169. 1
87827082170. 2
87827082171. 3

87827082172. 4



Question Number : 58 Question Id : 87827020761 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

qralaT=eh o™ < I 3R :
(1) Feranfadrem Svame = giq1 U |
(2) Toumm Suar = i T

(3) T 9T 9 i U |

(4) HgF A ARG UI

Options :

87827082169. 1
87827082170. 2
87827082171.3

87827082172. 4

Question Number : 59 Question Id : 87827020762 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
e i, faar, Toia, =9E 990 e - 9 T IR U
(1) R Fet Ui

(2) TR T TSI

(3) WK

(4) T Y SRG T el
Options :

87827082173.1
87827082174. 2
87827082175. 3

87827082176. 4



Question Number : 59 Question Id : 87827020762 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
wifert i, e, Teiet, 9@ a9 HeT - w4 g Hig U
(1) I Feet T

(2) TR < TSN
(3) WX
(4) % YA SRSl 8 eie!

Options :

87827082173. 1
87827082174. 2
87827082175.3
87827082176. 4

Question Number : 60 Question Id : 87827020763 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
‘Tgis | wfaar IHE T
(1) ‘TERT =)
(2) ‘adtd =S’ = )
(3) ‘o d_E Ud TH |
(4) ‘W wH gIR =)
Options :
87827082177.1

87827082178. 2

87827082179. 3



87827082180. 4

Question Number : 60 Question Id : 87827020763 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
g "
T21s ' sfad ome U

(1) ‘e =91

(2) ‘ot d==is = )

(3) ‘oot w&rs Ud T F
(4) ‘W wH IR =)
Options :

87827082177. 1
87827082178. 2
87827082179. 3

87827082180. 4

Question Number : 61 Question Id : 87827020764 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

" 3 o A, TR A e e €, T A € - ), 7 o e, e v e
TR WA

Options :

87827082181. 1



87827082182. 2
87827082183. 3

87827082184. 4

Question Number : 61 Question Id : 87827020764 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

" 3 o A e, TR e e €, T A € - ), 7 o e, A e v e
W?WH:

Options :

87827082181. 1
87827082182. 2
87827082183.3
87827082184. 4

Question Number : 62 Question Id : 87827020765 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘et miya’ e

(1) Yd-=reett geid T T

(2) Te-FHA T AU W YA IWS U |

(3) | AABK & WAR U |

(4) = 95d fav @ = Ugelt anl S




Options :

87827082185. 1
87827082186. 2
87827082187. 3

87827082188. 4

Question Number : 62 Question Id : 87827020765 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e ma’ @e-Fred

(1) Y-Sl gerid = T

(2) We-HA ¢ AT 9T YU 3 T
(

(

3) ° RN & YHR U |
4) = 9&d fa¥ @e-ea 9 Ugal! SRl A&
Options:
87827082185. 1
87827082186. 2
87827082187. 3

87827082188. 4

Question Number : 63 Question Id : 87827020766 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



3’3 UHH 9'Y S W Ugel 9 TRl Rl §iE U
(1) HieT e
(2) =ier < ST
(3) TR T ww
(4) TR STETR
Options:
87827082189. 1
87827082190. 2

87827082191. 3
87827082192. 4

Question Number : 63 Question Id : 87827020766 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

§'3 TRIH 9 'Y S e el DY S8l FHl HiE U

(1) Hiel geer

(2) e < STEE

(3) TR T ww

(4) TR SR
Options :

87827082189. 1
87827082190. 2
87827082191. 3
87827082192. 4

Question Number : 64 Question Id : 87827020767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
d-Ud TLaHl ek fagard < fesm aver T
(1) ISRl 31 gehagHl Rl = |

(2) ‘droed’ w|WH A |

(3) ‘H=d SIEel A U W S a@ie’ FHE A |
(4) ‘UrTe’ FE = |

Options :

87827082193. 1
87827082194. 2
87827082195. 3

87827082196. 4

Question Number : 64 Question Id : 87827020767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
d-Ud TRE T s favad 1 f=em ave U
(1) ‘9ILSTel <1 HehaeHT' Ml = |

(2) ‘drea’ wWH

(3) ‘H=d SiEel A U WS @i’ FE A |
(4) ‘Ure’ W = |

Options :

87827082193. 1
87827082194. 2
87827082195. 3

87827082196. 4

Question Number : 65 Question Id : 87827020768 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

$'3 = A O ol EReft’ gl S’ U
(1) d

(2) U

(3) HTA R

(4) ST S

Options :

87827082197. 1
87827082198. 2
87827082199. 3
87827082200. 4

Question Number : 65 Question Id : 87827020768 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

<2 =1 L, . v CERe’ g T A

(1) 3

(2) =g

(3) HId & =

(4) ST ek
Options :
87827082197. 1
87827082198. 2
87827082199. 3

87827082200. 4

Question Number : 66 Question Id : 87827020769 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
‘The-The Idid’, ‘e, g’ S
(1) ErIER! d gArfastes |
(2) HAIRES d gendart 7 |
(3) UHifesk, FMEeaEl d HYRETE! 7|
(4) TEETET d STagendandt 7|

Options :

87827082201. 1
87827082202. 2
87827082203. 3

87827082204. 4

Question Number : 66 Question Id : 87827020769 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

‘é*‘%_gq‘% S:IT_ﬂ_dr, :W:, :‘qﬂ‘:[a.[r a%.]ﬁ_qf :

(1) ErIEmR d HArfastes 7|

(2) HAfRES d Fendaml 7 |

(3) UHifesk, FEeEE! d HYRATS! 7|
(4) TEETET o STagenedant 7|

Options:

87827082201. 1
87827082202. 2
87827082203. 3

87827082204. 4



Question Number : 67 Question Id : 87827020770 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Y foa=m Y < 3T A
(1) =M &Rgd Y’ d Ysi
(2) 22T & SR d Wik HSil

(3) wIEHME d HeEH
(4) W Q@ HE
Options :

87827082205. 1
87827082206. 2
87827082207. 3

87827082208. 4

Question Number : 67 Question Id : 87827020770 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
Y foar Y < 3TH T
(1) =M &Rgd Y’ d Ysi
(2) Il & SR A Wk Wsh

(3) WEHE d HhM
(4) W Q@ HE
Options :

87827082205. 1
87827082206. 2
87827082207. 3

87827082208. 4



Question Number : 68 Question Id : 87827020771 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AT HEHR] I ARG 37919 U ¢
(1) =

(2) Hel

(3) YT WS =d

(4) ifed <1 dig

Options :

87827082209. 1
87827082210. 2
87827082211.3

87827082212. 4

Question Number : 68 Question Id : 87827020771 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FHUA TSR UL ARG 379 T
(1)

(2) el

(3) Yool Yelle =d

(4) ifed < die

Options :

87827082209. 1
87827082210. 2

87827082211. 3



87827082212. 4

Question Number : 69 Question Id : 87827020772 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘g 9T U

(1) <k FeRele 34T &
(2) FEE T ITAH T |
(3) =@ ITH T

(4) =G 3T q |
Options :

87827082213. 1
87827082214. 2
87827082215. 3

87827082216. 4

Question Number : 69 Question Id : 87827020772 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘Taq ' gL U

(1) STk dhole 39T < |

(2) FHEE FE IGAH q |

(3)
)

3) @I 39 T
(4) =G 3T 9 |
Options :
87827082213. 1

87827082214. 2



87827082215. 3
87827082216. 4

Question Number : 70 Question Id : 87827020773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

- I AUR 3T < URR U

(1) R
(2) T
(3) W=
(4) RS
Options :

87827082217.1
87827082218. 2
87827082219. 3

87827082220. 4

Question Number : 70 Question Id : 87827020773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A -GEY I YR 3T € IR U ¢

(1) gHR
(2) ™
(3) fera
(4) RS
Options :

87827082217.1



87827082218. 2
87827082219. 3

87827082220. 4

Question Number : 71 Question Id : 87827020774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HAfaEe a4 T
(1)  qHEt

(2) A9l

(3) TN

(4) T W Y
Options :

87827082221.1
87827082222. 2
87827082223. 3

87827082224. 4

Question Number : 71 Question Id : 87827020774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gArfazme ey ﬁ :
(1) e

(2) ATl

(3)  TMeTHS

(4) HE I A

Options:



87827082221.1
87827082222. 2
87827082223. 3

87827082224. 4

Question Number : 72 Question Id : 87827020775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘e o sTen’ ey € g A

(1) 96 e T

(2) M fEe

(3)  @Aferd HIET

(4) TorE S@fen
Options :

87827082225. 1
87827082226. 2
87827082227. 3

87827082228. 4

Question Number : 72 Question Id : 87827020775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
‘o q e’ ey € o A
(1) 9 &g T
(2) wHfHE

(3) ferd =N

(4) To= SEfan



Options :

87827082225. 1
87827082226. 2
87827082227. 3
87827082228. 4

Question Number : 73 Question Id : 87827020776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S A ey ﬁ :
(1) &9-¥M™

(2) S

(3) TUSR

(4) TYHEE YA
Options:
87827082229. 1
87827082230. 2
87827082231.3
87827082232. 4

Question Number : 73 Question Id : 87827020776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



B FeHe ey U

(1) &9-¥M
(2) T
(3) TUSR

(4) UHRIE A
Options:
87827082229. 1
87827082230. 2
87827082231.3

87827082232. 4

Question Number : 74 Question Id : 87827020777 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
SR G T 37URd @ 9 U
(1)  TSigr =ar 42 Yae
(2) FNMTEHAAZ U?
(3)  WIGI-Tel d TER
(4) TreafcH <y
Options :
87827082233. 1
87827082234. 2

87827082235. 3
87827082236. 4

Question Number : 74 Question Id : 87827020777 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
SIRI G W TR o HiE T :
(1) TS = 7F e
(2) FNTEH=AAZ U ?
(3) WTHI-HIE d FIER
(4) Treafeai wiwd
Options :
87827082233. 1
87827082234. 2

87827082235. 3

87827082236. 4

Question Number : 75 Question Id : 87827020778 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘gl SE 3T WEEl, W didl 13 3 ufed 35y U

(1) 39 Tt g< Tehish! * A7el 918’ =1

(2) HIET T49E g8 Uikl ‘or-HeR ' =l

(3) “RFEE 3a S ga Uahiohl ‘T SAHI-319A1 =1
(4) Tavary @S g2 his! Hiedi' =

Options :

87827082237. 1
87827082238. 2
87827082239. 3

87827082240. 4

Question Number : 75 Question Id : 87827020778 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘geal ST A HLEEl, W diel T3 37 Uk 3gyd U :
(1)  3{H TEATHT g2 Tehish! ‘ST 918’ =1

(2) Hred foE g2 kil ‘r-weR’ =l

(3) “RIHE <a ST §e Wehidhl ‘g8 STYA1-3{9A1" =1
(4) Tawamy wSftan g2 wehieht ‘Hfeai’ =n

Options :

87827082237. 1
87827082238. 2
87827082239. 3
87827082240. 4

Question Number : 76 Question Id : 87827020779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘TSI e € AU IR Y Fr 96 Sel U

(1) R 3
(2) TEER
(3) TS WA <

(4) @WHEMT
Options :
87827082241. 1
87827082242, 2
87827082243. 3

87827082244. 4

Question Number : 76 Question Id : 87827020779 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘T e € JalS YR 3RS HEre Hel Siel U

(1) =SR2
(2) TEMER
(3) TS WA <

(4) @WHEMT
Options :
87827082241. 1
87827082242. 2
87827082243. 3

87827082244. 4

Question Number : 77 Question Id : 87827020780 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
el e ‘fon-fou &g AR’ S o@e® A
(1) Teoq gt

(2) =9 oHi

(3) = e T

(4) Garao FHR 3THSH
Options:

87827082245. 1
87827082246. 2
87827082247. 3

87827082248. 4



Question Number : 77 Question Id : 87827020780 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e T ‘feg-foq g a’ € &1@+ A ¢

(1) foo sgrs

(2) =9 aHi

(3) =i e v

(4) Garao FHR 3THSH
Options :

87827082245. 1
87827082246. 2
87827082247. 3

87827082248. 4

Question Number : 78 Question Id : 87827020781 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

‘I 9 | AHI fage | Wil U
(1) STarERo 94
(2) T 9UH
(

3) g@id
(4) dishRTcH

Options :

87827082249. 1
87827082250. 2
87827082251. 3

87827082252. 4



Question Number : 78 Question Id : 87827020781 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1)  ITareRol Y

(2) B FUE

(3) g@M

(4) dlehRTcHh
Options :

87827082249. 1
87827082250. 2
87827082251. 3

87827082252. 4

Question Number : 79 Question Id : 87827020782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

3’2 9 AfersiEc gifecs It | ¢
(1) FIh

(2) S

(3) faferaw SHHH

(4) ¥

Options:

87827082253. 1
87827082254. 2

87827082255. 3



87827082256. 4

Question Number : 79 Question Id : 87827020782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

é%aﬁwﬁmﬁmﬁﬂmq:
(1) %

(2) Sfedl s

(3) fafersm S

(4) STH

Options :

87827082253. 1
87827082254. 2
87827082255. 3

87827082256. 4

Question Number : 80 Question Id : 87827020783 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1A -TFA1 9 5k 11 ITARY AR S hs s+ & YN Biel U

(1) T =

(2) DHHAIEH

(3) dergu™ =

(4) AT =
Options :

87827082257. 1

87827082258. 2



87827082259. 3
87827082260. 4

Question Number : 80 Question Id : 87827020783 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FHTH-TFA1 ¥ 3 11 TSN ATeY ¢ ohs oo & TAN il U

(1) I =

(2) VHHIIHEH

(3) WRHIE =

(4) FAIIE =
Options :

87827082257. 1
87827082258. 2
87827082259. 3
87827082260. 4

Question Number : 81 Question Id : 87827020784 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
‘Eﬁlﬁu@ﬁﬁ : H@’Bﬁﬁ%@ﬁ({ :
(1) ‘siifae - foar == =
(2) ‘eiface wfa amg’ =
(3) ‘eifac fagia famel’ =
(4) Tferca gHian gt =

Options :

87827082261. 1



87827082262. 2
87827082263. 3

87827082264. 4

Question Number : 81 Question Id : 87827020784 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘3ferd wrgTEE - Hevl’ 3Sfed 3feerad U

(1) ‘siifae - fe=mr ==’ =
(2) ‘oifac wfa ama’ =

(3) ‘efifaca fagia fawdl’ =
(4) SAifE HHIE gt =

Options :

87827082261. 1
87827082262. 2
87827082263. 3

87827082264. 4

Question Number : 82 Question Id : 87827020785 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Hifged < aredt gerg Tl wgad fe
(1) THaEl 3=

(2) STAFRER! =R

(3) afTarEt =

(4) YdeRaret =

Options:



87827082265. 1
87827082266. 2
87827082267. 3

87827082268. 4

Question Number : 82 Question Id : 87827020785 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

qrfged Eﬂ{ﬁ gerg i T fem
(1) THaEl 3=

(2) FACRRATGT AT

(3) eafarel =g

(4) YdtRaTe! AT
Options :

87827082265. 1
87827082266. 2
87827082267. 3

87827082268. 4

Question Number : 83 Question Id : 87827020786 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
HrEHT i

(1) ‘e’ off e e U
(2) ‘T&'S’ it e S| U
(3) ‘2reR’ @i e Sa U
(4) 29 & TermE e U



Options :

87827082269. 1
87827082270. 2
87827082271. 3
87827082272. 4

Question Number : 83 Question Id : 87827020786 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
it 3 T
(1) ‘“eret’ sff e e U
(2) ‘TS5 = T S| v
(3) ‘2reR’ St oA Sia U |
(4) &9 & TR S U

Options :

87827082269. 1

87827082270. 2

87827082271. 3

87827082272. 4

Question Number : 84 Question Id : 87827020787 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e
(1) 99 FH < T T M S gl HTe M T |
(2) o fodr den-ia U e Yaen e 99H 9= dreral Ul
(3) T = &S Tge Hick T S U
(4) SEIG G dAlh-Tid U
Options :
87827082273. 1
87827082274. 2

87827082275. 3
87827082276. 4

Question Number : 84 Question Id : 87827020787 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e

(1) 99 & < T 9 T I SAgell 57t 71d T

(2) o fod der-ia U fome Yaen aid 99H e derel U
(3) TW T s Ugs Tieh T el U

(4) TLHId G AR-Ti T

Options :

87827082273. 1
87827082274. 2
87827082275. 3
87827082276. 4

Question Number : 85 Question Id : 87827020788 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

‘is & S Here 1 A U

(1) &S el oA
(2) Heel

(3) Zooid &I S |
(4) s TEE T
Options :

87827082277. 1
87827082278. 2
87827082279. 3

87827082280. 4

Question Number : 85 Question Id : 87827020788 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘is G S HRre g S U

(1) &S el oA |
(2) Tl U

(3) Zooid &I S |
(4) s T A
Options :

87827082277. 1
87827082278. 2
87827082279. 3

87827082280. 4

Question Number : 86 Question Id : 87827020789 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HigAT d Tev Hliel 3T T ¢
(1) Teq =9¢ i s1ai-4<i, Td vd di =@ & |
(2) HHSE d | T |
(3) T e g, T S g
(4) Ugd A T8 qeHE |
Options :
87827082281. 1
87827082282. 2

87827082283. 3
87827082284. 4

Question Number : 86 Question Id : 87827020789 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HIgT d oW S G U
(1) TeT =¢ i 340, Td vd i =@ & |
(2) HHSA A @ T |
(3) O = g, T e g
(4) Ul sreni To=s qeemeHn |
Options :
87827082281. 1
87827082282. 2
87827082283. 3

87827082284. 4

Question Number : 87 Question Id : 87827020790 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A fagid SAYUNd U -

(1) hewe < fagid W

(2)  wren faamt we < fagid @
(3) #red < fagid T

(4) F=Ew < fagid w

Options :

87827082285. 1
87827082286. 2
87827082287. 3

87827082288. 4

Question Number : 87 Question Id : 87827020790 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
G fagid 19rRd U
(1) hewe < fagid Wi
(2) e fagrt wY < fagid W
(3) e § fHgid w
(4) F=Ew < fagid w

Options:

87827082285. 1
87827082286. 2
87827082287.3

87827082288. 4



Question Number : 88 Question Id : 87827020791 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
1 Fifecd ¢ STHAR 9 Ty oH 9SSl G el U
(1) forrerg 2 fergerer <1
(2) e g forgetsH €
(3) Hrehfder HeH < favered <
(4) Vs ¢ SRR favereE <
Options :
87827082289. 1
87827082290. 2

87827082291. 3

87827082292. 4

Question Number : 88 Question Id : 87827020791 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

el HIfeed < AR 9 I oHi g8 i Sl U
(1) forrerg 2 fergerer <1

(2) e ] forgetsE <

(3) Hrehfas HeH € faverem €

(4) Ve ¢ SRR favereE <€

Options :

87827082289. 1
87827082290. 2
87827082291. 3

87827082292. 4



Question Number : 89 Question Id : 87827020792 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YR o YAkl S §e 9
(1) el Gord TS 9% Bl |
(2) S s feeht B |
(3) HIf Y=g B

(4) STER A 2% BN |
Options :

87827082293. 1
87827082294. 2
87827082295. 3

87827082296. 4

Question Number : 89 Question Id : 87827020792 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
YR = YIRS He 9
(1) el gord TS 9% 8 |
(2) T R feeht B
(3) T UHEE BN |

(4) STER ATA 2E BN |

Options:
87827082293. 1
87827082294. 2

87827082295. 3



87827082296. 4

Question Number : 90 Question Id : 87827020793 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR TR U

(1) ‘Siferas gis' 2
(2) ‘ErERs S

(3) ‘Hf gHadfe’ a1
(4) ‘379, gud 3R’ T
Options :

87827082297. 1
87827082298. 2
87827082299. 3
87827082300. 4

Question Number : 90 Question Id : 87827020793 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

R TR T
(1) ‘Siferas i’ <11
2) ‘RS S

(
(3) ‘Hfw gHadfes’ 2
(4) ‘319, g d 3R T

Options :
87827082297. 1

87827082298. 2



87827082299. 3
87827082300. 4

Question Number : 91 Question Id : 87827020794 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SAT WIEN o STATERT

(A) 3% EHH T

(B) 3 ®&fd UM U

(C) % HA4USH 3oh1E U |

(D) a-37 ¢ faeR sru Te1 2iel U1
é%ﬁﬁma@ﬁmrﬁﬁ:

(1) (A), (C )ﬁ(ma’ﬁm
(2) (B), (C) @ (D) 3 1
(3) (A), (B) @ (C) Ik 1
(4) (A), (B) @ (D) 3 71
Options:

87827082301. 1
87827082302. 2
87827082303. 3

87827082304. 4

Question Number : 91 Question Id : 87827020794 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ST WI9 o STATST

(A) T ®YUH U |

(B) 3 w1 UM T

(C) Ik ek 3hIS U |

(D) aT-37 T faer sror Yey Sidt |
3'T I WE Jard s1ee faskew = -

(1) (A), (O ¥ (D) 2 1
(2) (B), (O) @ (D) 3 1
(3) (A), (B) d (C) 3% 71
(4) (A), (B) d (D) 3l A1
Options :

87827082301. 1
87827082302. 2
87827082303. 3

87827082304. 4

Question Number : 92 Question Id : 87827020795 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SR IR & Wd &Y § JEnT =

(A) e & A9 gefd T

(B) HAcaiar ol |y &ifafierdy U1

(C) ThaE YrId &1 99 T

(D) HEHd | § Wd W < TR &1 499 U
3'S = W Sad 3R fasked M A

(1) (B), (C) @ (D) &t A1

(2) (A), (B) @ (D) 3t 1

(3) (B) d (D)3l I

(4) (A) T (C) S A1
Options :

87827082305. 1
87827082306. 2
87827082307. 3

87827082308. 4

Question Number : 92 Question Id : 87827020795 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SR IR & Wd &Y § JEnT =

(A) e & A9 gefd T

(B) HAcaiar ol |y &ifafierdy U1

(C) ThaE YrId &1 99 T

(D) HEHd | § Wd W < TR &1 499 U
3'S = W Sad 3R fasked M A

(1) (B), (C) @ (D) &t A1

(2) (A), (B) @ (D) 3t 1

(3) (B) d (D)3l I

(4) (A) T (C) S A1
Options :

87827082305. 1
87827082306. 2
87827082307. 3

87827082308. 4

Question Number : 93 Question Id : 87827020796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



wwﬁﬂﬁwaﬁ
(A) ‘—q I AR U
(B) Fd-Fd'—3' ' —' yIF & TIQ 7|
(C) '—%7' v & eI U
i 3o g9 A ' —U' T el T
373 =1 T a9 oS fased M =
(1) (A), (B) @ (D) Sl 1
(2) (B), (C) d (D) 3 1
(3) (A)T (©) =
(4) (A) d (D)3 Al

Options:

87827082309. 1
87827082310. 2
87827082311.3
87827082312. 4

Question Number : 93 Question Id : 87827020796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



wwﬁﬂﬁwaﬁ
(A) ‘—q I AR U
(B) Fd-Fd'—3' ' —' yIF & TIQ 7|
(C) '—%7' v & eI U
i 3o g9 A ' —U' T el T
373 =1 T a9 oS fased M =
(1) (A), (B) @ (D) Sl 1
(2) (B), (C) d (D) 3 1
(3) (A)T (©) =
(4) (A) d (D)3 Al

Options:

87827082309. 1
87827082310. 2
87827082311.3
87827082312. 4

Question Number : 94 Question Id : 87827020797 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



qoTHe fageE

(1) ToTErEe favem T &7 e 7|

(2) Hehdarash foRIvH &1 & ™ s A1
(3) HArg-dreTemr=eh foRIeE € & L] 7|
(4) FA-go fa9eE g FH Fa I

-

3’ 1 w3 a9 oA faskey M gl
(1) (A), (B) @ (C) Stk A1

(2) (B), (C) d (D) @is A1

(3) (A)d (B) 3k I

(4) (B) d (C) 3% A1

Options :

87827082313. 1
87827082314. 2
87827082315. 3

87827082316. 4

Question Number : 94 Question Id : 87827020797 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



qoTHe fageE

(1) ToTErEe favem T &7 e 7|

(2) Hehdarash foRIvH &1 & ™ s A1
(3) HArg-dreTemr=eh foRIeE € & L] 7|
(4) FA-go fa9eE g FH Fa I

-

3’ 1 w3 a9 oA faskey M gl
(1) (A), (B) @ (C) Stk A1

(2) (B), (C) d (D) @is A1

(3) (A)d (B) 3k I

(4) (B) d (C) 3% A1

Options :

87827082313. 1
87827082314. 2
87827082315. 3

87827082316. 4

Question Number : 95 Question Id : 87827020798 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘g " e ST T

(A) cele Hod W
(B) HHS® He-vE W

(C) el g R W

(D) W & HHd1 T

3’ I w3 a9 e faskey M gl
(1) (A)d (B) 3l 1

(2) (B)d (C) 2t A1

(3) (C)d (D)3l& A1

(4) (A)d (C)3fF A1

Options:

87827082317. 1
87827082318. 2
87827082319.3
87827082320. 4

Question Number : 95 Question Id : 87827020798 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘g " e ST T

(A) cele Hod W
(B) HHS® He-vE W

(C) el g R W

(D) W & HHd1 T

3’ I w3 a9 e faskey M gl
(1) (A)d (B) 3l 1

(2) (B)d (C) 2t A1

(3) (C)d (D)3l& A1

(4) (A)d (C)3fF A1

Options:

87827082317. 1
87827082318. 2
87827082319.3
87827082320. 4

Question Number : 96 Question Id : 87827020799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



] TS [ TS gk, o9 Tol o e gan A e ok 1" ek
(A) THIE I

(B) ISt <1 3% US|
(C) HOHARH < aiciele] T = hifei 71
(D) Tafera o W hare Hifedi 71
2% 1 T S e foen T
(1) (BT (CIFTI

2 (A)(© D3I

(3) (A)T ()3

(4) (B)d (D)3

Options :

87827082321. 1

87827082322. 2

87827082323. 3

87827082324. 4

Question Number : 96 Question Id : 87827020799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



] TS [ TS gk, o9 Tol o e gan A e ok 1" ek
(A) THIE I

(B) ISt <1 3% US|
(C) HOHARH < aiciele] T = hifei 71
(D) Tafera o W hare Hifedi 71
2% 1 T S e foen T
(1) (BT (CIFTI

2 (A)(© D3I

(3) (A)T ()3

(4) (B)d (D)3

Options :

87827082321. 1

87827082322. 2

87827082323. 3

87827082324. 4

Question Number : 97 Question Id : 87827020800 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Y Hid o € 21, 39 <1 AW IR, S SR U S, e e T TR | e
(A) T TR ES U

(B) =PI YHIgSIT

(C) TR

(D) Yl oA ¢ 9 U

3¢ WS S SAEed Tk 7 < -
(1) (B)d (C) & I

(2) (A)T (C) I A1

(3) (B)d (D)l I

(4) (A)d (D)3

Options :

87827082325. 1

87827082326. 2

87827082327.3
87827082328. 4

Question Number : 97 Question Id : 87827020800 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Y Hid o € 21, 39 <1 AW IR, S SR U S, e e T TR | e
(A) T TR ES U

(B) =PI YHIgSIT

(C) TR

(D) Yl oA ¢ 9 U

3¢ WS S SAEed Tk 7 < -
(1) (B)d (C) & I

(2) (A)T (C) I A1

(3) (B)d (D)l I

(4) (A)d (D)3

Options :

87827082325. 1

87827082326. 2

87827082327.3
87827082328. 4

Question Number : 98 Question Id : 87827020801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



forer < geiter gat s IS’

(A) T R IR L HA U

(B) = HRI UAL < HAEH Heel M SHNSAT 11 U
(C) dmiferehdl d 9LF0 < W< g f==v1 <f 7Ere Ui
(D) WY fhRigR aTeRATA 7 |

3’ =1 W3 A AR fasheq 1t g4 -
(1) (A) d (D)3l 71

(2) (B)d (D) 3% I

(3) (B) d (C) 2l 71

(4) (A)d (C)3fF A1

Options :

87827082329. 1
87827082330. 2
87827082331. 3

87827082332. 4

Question Number : 98 Question Id : 87827020801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



forer < geiter gat s IS’

(A) T R IR L HA U

(B) = HRI UAL < HAEH Heel M SHNSAT 11 U
(C) dmiferehdl d 9LF0 < W< g f==v1 <f 7Ere Ui
(D) WY fhRigR aTeRATA 7 |

3’ =1 W3 A AR fasheq 1t g4 -
(1) (A) d (D)3l 71

(2) (B)d (D) 3% I

(3) (B) d (C) 2l 71

(4) (A)d (C)3fF A1

Options :

87827082329. 1
87827082330. 2
87827082331. 3

87827082332. 4

Question Number : 99 Question Id : 87827020802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘TR hg LGl

(A) T =GR TLORIT T HI=TaT 987 <1 U

(B) I 9 IR A i WEer’ g1 faeen g5 9xd a1 T |
(

(

D) = TH = T
'S WS AT SR fashed Mgl
(1) (C)d (D) 3k A1
(2) (A)d (B) Sl& I
(3) (B) @ (D)3t Al
(4) (A)d (D)3 TI
Options :

87827082333. 1
87827082334. 2
87827082335. 3
87827082336. 4

Question Number : 99 Question Id : 87827020802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘TR hg LGl

(A) T =GR TLORIT T HI=TaT 987 <1 U

(B) I 9 IR A i WEer’ g1 faeen g5 9xd a1 T |
(

(

D) = TH = T
'S WS AT SR fashed Mgl
(1) (C)d (D) 3k A1
(2) (A)d (B) Sl& I
(3) (B) @ (D)3t Al
(4) (A)d (D)3 TI
Options :

87827082333. 1
87827082334. 2
87827082335. 3
87827082336. 4

Question Number : 100 Question Id : 87827020803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ST © 3= HYFSE < U 7Ie A :
(A) H=aE d Hiclhd]
(B) grerehdl o HSA

(C) Y& d Tehdl

(D) I o T=ehdl

3 W W Sad TR fashed M A
(1) (A), (B) @ (C) Stk A1

(2) (A), (B) d (D) 3le A1

(3) (B), (C) @ (D) 2l 71

(4) (A), (O) d (D) S A1

Options :

87827082337. 1
87827082338. 2
87827082339. 3
87827082340. 4

Question Number : 100 Question Id : 87827020803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ST © 3= HYFSE < U 7Ie A :
(A) H=aE d Hiclhd]
(B) grerehdl o HSA

(C) Y& d Tehdl

(D) I o T=ehdl

3 W W Sad TR fashed M A
(1) (A), (B) @ (C) Stk A1

(2) (A), (B) d (D) 3le A1

(3) (B), (C) @ (D) 2l 71

(4) (A), (O) d (D) S A1

Options :

87827082337. 1
87827082338. 2
87827082339. 3
87827082340. 4

Question Number : 101 Question Id : 87827020804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘TepH’ 3T

(A) T HHE URR 7 - HIg, 7, g4 9 S |
(B) & A YT A - HEI, =, G o S |
(C) T FHYUMF JAAHF o SRIfF T
(D) = 'S’ HeXdl d SeRYA &1 Wl U
3% =1 T o e fawed M A

(1) (B) d (C) 3 1

(2) (A)d (C) 3 I

(3) (B) @ (D)3 Al

(4) (B), (O) d (D) 31 71

Options :

87827082341. 1

87827082342. 2

87827082343. 3

87827082344. 4

Question Number : 101 Question Id : 87827020804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘TepH’ 3T

(A) T HHE URR 7 - HIg, 7, g4 9 S |
(B) & A YT A - HEI, =, G o S |
(C) T FHYUMF JAAHF o SRIfF T
(D) = 'S’ HeXdl d SeRYA &1 Wl U
3% =1 T o e fawed M A

(1) (B) d (C) 3 1

(2) (A)d (C) 3 I

(3) (B) @ (D)3 Al

(4) (B), (O) d (D) 31 71

Options :

87827082341. 1

87827082342. 2

87827082343. 3

87827082344. 4

Question Number : 102 Question Id : 87827020805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tk Tk’ 3T

(A) TOMERT € FHE W YR T |
(B) = SITSX € gk &1 90 T
(C) & i@k el 9|l 2R |

(D) = -l 9l &t RH < HHE & A U
Eﬁﬁ%ﬁaﬁWﬁWﬁﬂ:ﬁ:
(1) (A), (B) T (C) I 71

(2) (B), (O) @ (D) 31 71

(3) (A), (O T (D) 3= 1

(4) (A), (B) @ (D) 3l I
Options :

87827082345. 1

87827082346. 2

87827082347. 3

87827082348. 4

Question Number : 102 Question Id : 87827020805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tk Tk’ 3T

(A) TOMERT € FHE W YR T |
(B) = SITSX € gk &1 90 T
(C) & i@k el 9|l 2R |

(D) = -l 9l &t RH < HHE & A U
Eﬁﬁ%ﬁaﬁWﬁWﬁﬂ:ﬁ:
(1) (A), (B) T (C) I 71

(2) (B), (O) @ (D) 31 71

(3) (A), (O T (D) 3= 1

(4) (A), (B) @ (D) 3l I
Options :

87827082345. 1

87827082346. 2

87827082347. 3

87827082348. 4

Question Number : 103 Question Id : 87827020806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



“%@éﬁiﬁﬂ@ﬂw,ﬁﬁa:

(A) T oHEH SETRl R 7|

(B) < i@ 3iM Tiart g 7 |

(C) = W@ &l oIl IS d hikadl Fd 1 hidl &f U |
(D) A @ & oIl Tgarell A8 &l hidl &f Tl

3’3 = W@E S STI@ ﬁﬁqzﬁﬂ:ﬁ -
(1) (A)d (C) 3 A1

(2) (B)d (C) 3Tk A1

(3) (B) d (D)3l 1

(4) (A) d (D)3 Al

Options :

87827082349. 1
87827082350. 2
87827082351. 3

87827082352. 4

Question Number : 103 Question Id : 87827020806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



“%@éﬁiﬁﬂ@ﬂw,ﬁﬁa:

(A) T oHEH SETRl R 7|

(B) < i@ 3iM Tiart g 7 |

(C) = W@ &l oIl IS d hikadl Fd 1 hidl &f U |
(D) A @ & oIl Tgarell A8 &l hidl &f Tl

3’3 = W@E S STI@ ﬁﬁqzﬁﬂ:ﬁ -
(1) (A)d (C) 3 A1

(2) (B)d (C) 3Tk A1

(3) (B) d (D)3l 1

(4) (A) d (D)3 Al

Options :

87827082349. 1
87827082350. 2
87827082351. 3

87827082352. 4

Question Number : 104 Question Id : 87827020807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘T’ e HiR

(A) 1 YA &'T 1996 U |
(B) ¢ fraiy fommress 711
(C) = &y =Hener 71
(D) = fr&iE <t fimad 33 U

E?ﬁééaaraa@ﬁwzﬁﬂ#}:
(1) (A), (B) @ (D) 3t

(2) (A)d (B) 3l A1

(3) (A)d (C)3l& 1

(4) (B)d (D)3t A

Options :

87827082353. 1
87827082354. 2
87827082355. 3

87827082356. 4

Question Number : 104 Question Id : 87827020807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘T’ e HiR

(A) 1 YA &'T 1996 U |
(B) ¢ fraiy fommress 711
(C) = &y =Hener 71
(D) = fr&iE <t fimad 33 U

E?ﬁééaaraa@ﬁwzﬁﬂ#}:
(1) (A), (B) @ (D) 3t

(2) (A)d (B) 3l A1

(3) (A)d (C)3l& 1

(4) (B)d (D)3t A

Options :

87827082353. 1
87827082354. 2
87827082355. 3

87827082356. 4

Question Number : 105 Question Id : 87827020808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



chlet defeht .

(A) HHE G4 TeF U

(B) e o HicH Wiyl wweand 1 % <1 fael s e

(C) e 9 3o 1 o T g9 %24 T - g &1 T

(D) ee T 3eyd i ufferfed s 8 amedl & T e T

(1) (A), (C) d (D) 3t 71

(2) (A), (B)d (D)3l 1

(3) (B), (C) @ (D) 3t 71

(4) (A), B) T (C) 3k I
Options :

87827082357. 1
87827082358. 2
87827082359. 3
87827082360. 4

Question Number : 105 Question Id : 87827020808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



chlet defeht .

(A) HHE G4 TeF U

(B) e o HicH Wiyl wweand 1 % <1 fael s e

(C) e 9 3o 1 o T g9 %24 T - g &1 T

(D) ee T 3eyd i ufferfed s 8 amedl & T e T

(1) (A), (C) d (D) 3t 71

(2) (A), (B)d (D)3l 1

(3) (B), (C) @ (D) 3t 71

(4) (A), B) T (C) 3k I
Options :

87827082357. 1
87827082358. 2
87827082359. 3
87827082360. 4

Question Number : 106 Question Id : 87827020809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TIEE 39 SFaTd ga e HUR BR A AeH’ F Hehald A1 A :
(A)  STTI-3TFT T

(B) HIdHH

(C) T =HY

(D) el 3ok Tl

33 91 WS Sare ST fasheq M <Al
(1) (A), (B) T (D) 3t A1

(2) (B), (C) d (D)3 AI

(3) (A), (O) d (D) 3l& I

(4) (A), (B) U (C) 3k A1

Options :

87827082361. 1
87827082362. 2
87827082363. 3
87827082364. 4

Question Number : 106 Question Id : 87827020809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TIEE 39 SFaTd ga e HUR BR A AeH’ F Hehald A1 A :
(A)  STTI-3TFT T

(B) HIdHH

(C) T =HY

(D) el 3ok Tl

33 91 WS Sare ST fasheq M <Al
(1) (A), (B) T (D) 3t A1

(2) (B), (C) d (D)3 AI

(3) (A), (O) d (D) 3l& I

(4) (A), (B) U (C) 3k A1

Options :

87827082361. 1
87827082362. 2
87827082363. 3
87827082364. 4

Question Number : 107 Question Id : 87827020810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘e159 1 faehe’ e

(A) 3 2 e @ T o W = e N

(B) I @&l & W'cdl sifa |l & HwRon i =t g U
(

(

C) gond W SR B2 T SUR Iad 3 < gfa M e T
D) WeN-dlerd o 3<als T Hele HLa U
E?ﬂ%WWﬁWTﬁﬂ:ﬁ:

(1) (A), (B)d (D) 3% 71

(2) (B)d (D)=

(3) (B), (O) d (D)2 1

(4) (A), (O T (D)3 1

Options :

87827082365. 1

87827082366. 2

87827082367. 3
87827082368. 4

Question Number : 107 Question Id : 87827020810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘e159 1 faehe’ e

(A) 3 2 e @ T o W = e N

(B) I @&l & W'cdl sifa |l & HwRon i =t g U
(

(

C) gond W SR B2 T SUR Iad 3 < gfa M e T
D) WeN-dlerd o 3<als T Hele HLa U
E?ﬂ%WWﬁWTﬁﬂ:ﬁ:

(1) (A), (B)d (D) 3% 71

(2) (B)d (D)=

(3) (B), (O) d (D)2 1

(4) (A), (O T (D)3 1

Options :

87827082365. 1

87827082366. 2

87827082367. 3
87827082368. 4

Question Number : 108 Question Id : 87827020811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



WA & e SYfd o FHAma &

(A) S H Fe T ReU d FY-3RR S W 9 o wig
(B) IW ayfeRarnied o1 yq@ 29

(C) i e A JER @R 9 WL U

(D) it et g € enyfeh AefaReh B g1

Options:

87827082369. 1
87827082370. 2
87827082371.3
87827082372. 4

Question Number : 108 Question Id : 87827020811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



WA & e SYfd o FHAma &

(A) S H Fe T ReU d FY-3RR S W 9 o wig
(B) IW ayfeRarnied o1 yq@ 29

(C) i e A JER @R 9 WL U

(D) it et g € enyfeh AefaReh B g1

Options:

87827082369. 1
87827082370. 2
87827082371.3
87827082372. 4

Question Number : 109 Question Id : 87827020812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



' sIfyeSTETR | § STER i S herl

(A) 379 3 & HIEHT T WIE HiEl U

(B) @l — o Tt fefere® Wil wie i |

(C) Fee ufaffe Hereh feaaeor shiar U

(D) 79 37X & 9el STER e 7 faaed e |

373 =1 ¢ a9 SRS fased M =
(1) (A), (Q) T (D) 3 71

(2) (B), (C) ¥ (D) 3 1

(3) (B) @ (C) 3 1

(4) (A)d (D)3 I

Options:

87827082373. 1
87827082374. 2
87827082375.3

87827082376. 4

Question Number : 109 Question Id : 87827020812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



' sIfyeSTETR | § STER i S herl

(A) 379 3 & HIEHT T WIE HiEl U

(B) @l — o Tt fefere® Wil wie i |

(C) Fee ufaffe Hereh feaaeor shiar U

(D) 79 37X & 9el STER e 7 faaed e |

373 =1 ¢ a9 SRS fased M =
(1) (A), (Q) T (D) 3 71

(2) (B), (C) ¥ (D) 3 1

(3) (B) @ (C) 3 1

(4) (A)d (D)3 I

Options:

87827082373. 1
87827082374. 2
87827082375.3

87827082376. 4

Question Number : 110 Question Id : 87827020813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



?ﬁﬁlﬂlﬁ‘%@ﬁ’:

(A) WEATE < WISl wieh 2 3ok A= Tid U |

(B) < T Hl&E A= U |

(C) = ‘foull’ Als T @/ €2 <1 &l TANT hidl Sia1 U |
(D) o {eiql-THerer | <1 el ‘eurl’ Tl
3% W W Sa TR fashed M A

(1) (A), (B) @ (C) 3l 1

(B), (C) d (D) @is A1

Options:

87827082377. 1
87827082378. 2
87827082379.3

87827082380. 4

Question Number : 110 Question Id : 87827020813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



?ﬁﬁlﬂlﬁ‘%@ﬁ’:

(A) WEATE < WISl wieh 2 3ok A= Tid U |

(B) < T Hl&E A= U |

(C) = ‘foull’ Als T @/ €2 <1 &l TANT hidl Sia1 U |
(D) o {eiql-THerer | <1 el ‘eurl’ Tl
3% W W Sa TR fashed M A

(1) (A), (B) @ (C) 3l 1

(B), (C) d (D) @is A1

Options:

87827082377. 1
87827082378. 2
87827082379.3

87827082380. 4

Question Number : 111 Question Id : 87827020814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



difed fed J3d Tt

(A) T 3 AT TeeR d fed < s didt T
(B) Toel fed gfeed =mel o m@ Sig U
(C) ol Hdl it Tedie 7|

(D) sl off e Sier

3 W W Sad TR fashed M A
(1) (A), (B) T (O 2w 71

(2) (B), (C) d (D) 3 1

(3) (A) T (D) 3w A1

(4) (B)d (D)3t A

Options :

87827082381. 1

87827082382. 2

87827082383. 3
87827082384. 4

Question Number : 111 Question Id : 87827020814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



difed fed J3d Tt

(A) T 3 AT TeeR d fed < s didt T
(B) Toel fed gfeed =mel o m@ Sig U
(C) ol Hdl it Tedie 7|

(D) sl off e Sier

3 W W Sad TR fashed M A
(1) (A), (B) T (O 2w 71

(2) (B), (C) d (D) 3 1

(3) (A) T (D) 3w A1

(4) (B)d (D)3t A

Options :

87827082381. 1

87827082382. 2

87827082383. 3
87827082384. 4

Question Number : 112 Question Id : 87827020815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TEEN ;

A) IR AL

(B) = =fvyen visg wifekd < W @it U1
(C) < vregraet fv=a g T

(D) <1 &3¢ enerures gidt T

3'T I WE Jard see faskew 5 -
(1) (

(2)

(3) (B) d (C) 2l 71
(4) (

Options:

87827082385. 1
87827082386. 2
87827082387.3
87827082388. 4

Question Number : 112 Question Id : 87827020815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TEEN ;

A) IR AL

(B) = =fvyen visg wifekd < W @it U1
(C) < vregraet fv=a g T

(D) <1 &3¢ enerures gidt T

3'T I WE Jard see faskew 5 -
(1) (

(2)

(3) (B) d (C) 2l 71
(4) (

Options:

87827082385. 1
87827082386. 2
87827082387.3
87827082388. 4

Question Number : 113 Question Id : 87827020816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



"5g TS 1 Fdia’

(A) <t T AN gsiret U

(B) d A7arcs fafem w71
(C) =FHTEIRT

(D) 399 U
E?ﬁééaaraa@ﬁwzﬁﬂ#}:

(1) (A), (B) @ (C) Stk A1
(2) (B), (C) d (D) @is A1
(3) (A), (B) d (D) 3l A1
(4) (A)d (B) 3tk A
Options :

87827082389. 1

87827082390. 2

87827082391. 3

87827082392. 4

Question Number : 113 Question Id : 87827020816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



"5g TS 1 Fdia’

(A) <t T AN gsiret U

(B) d A7arcs fafem w71
(C) =FHTEIRT

(D) 399 U
E?ﬁééaaraa@ﬁwzﬁﬂ#}:

(1) (A), (B) @ (C) Stk A1
(2) (B), (C) d (D) @is A1
(3) (A), (B) d (D) 3l A1
(4) (A)d (B) 3tk A
Options :

87827082389. 1

87827082390. 2

87827082391. 3

87827082392. 4

Question Number : 114 Question Id : 87827020817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ST 9 3ffed ‘0’ U=

(A) fR<t o srfea T

(B) ST omi srfed U

(C) I 9 U  JeTH T HAYRA T |
(D) feart stganee =rom T 71

3% o1 T o e fawed M =
(1) (A), (B) T (O 2w 71

(2) (B), (C) d (D) 3 1

(3) (A) T (C)B* I

(4) (A) d (D)3 Al

Options :

87827082393. 1

87827082394, 2

87827082395. 3

87827082396. 4

Question Number : 114 Question Id : 87827020817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ST 9 3ffed ‘0’ U=

(A) fR<t o srfea T

(B) ST omi srfed U

(C) I 9 U  JeTH T HAYRA T |
(D) feart stganee =rom T 71

3% o1 T o e fawed M =
(1) (A), (B) T (O 2w 71

(2) (B), (C) d (D) 3 1

(3) (A) T (C)B* I

(4) (A) d (D)3 Al

Options :

87827082393. 1

87827082394, 2

87827082395. 3

87827082396. 4

Question Number : 115 Question Id : 87827020818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(C) HrarE! Ta=RYRT W 314N U |
(D) fae Hood 2 faeres W s1ra T
3 W W Sad TR fashed M A
(1) (A), (B) T (C) I 71
(2) (B), (O) @ (D) 3 1
(3) (A)d (B) 3k I

(4) (A)d (C)3fF A1
Options :

87827082397. 1

87827082398. 2

87827082399. 3
87827082400. 4

Question Number : 115 Question Id : 87827020818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(C) HrarE! Ta=RYRT W 314N U |
(D) fae Hood 2 faeres W s1ra T
3 W W Sad TR fashed M A
(1) (A), (B) T (C) I 71
(2) (B), (O) @ (D) 3 1
(3) (A)d (B) 3k I

(4) (A)d (C)3fF A1
Options :

87827082397. 1

87827082398. 2

87827082399. 3
87827082400. 4

Question Number : 116 Question Id : 87827020819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et et et e e g oidh = e o o ot 88 P vt
EA Fe-I1

3 %S Sl S feehey 1 10 ¢

(1) (AHI), B)-), (©-), DMV
) (AHIV), (B){I1D), (C)-(TT), (DA
() (AHLL), B)-LV), (©)-(L), (D)-
(4) (AW, B)-(), (D, (D}

Options:

)
)
0
Iv)
87827082401. 1
87827082402. 2
87827082403. 3

87827082404. 4

Question Number : 116 Question Id : 87827020819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et et et e e g oidh = e o o ot 88 P vt
EA Fe-I1

3 %S Sl S feehey 1 10 ¢

(1) (AHI), B)-), (©-), DMV
) (AHIV), (B){I1D), (C)-(TT), (DA
() (AHLL), B)-LV), (©)-(L), (D)-
(4) (AW, B)-(), (D, (D}

Options:

)
)
0
Iv)
87827082401. 1
87827082402. 2
87827082403. 3

87827082404. 4

Question Number : 117 Question Id : 87827020820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et =4t @ oot Ay wfafved 1 ¢ 96t = foeht e wfafved) 1 e foem o)

TeI

(1) (AM

(2) (AR, B)-(), (©)-(), DHIV
(3)  (AH1V), B)-(1), (O)-(IL), D)-(I
(&) (A)-(Im), (BHIV), (C-(1), (D)-(I
Options:

87827082405. 1
87827082406. 2
87827082407. 3

87827082408. 4

Question Number : 117 Question Id : 87827020820 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

dat-11
() e, ey e
() SaTsA, HETe SRl
() *Har=A, Hehdld FAHMHT
(V) jer=d, Hfem sHee



et =4t @ oot Ay wfafved 1 ¢ 96t = foeht e wfafved) 1 e foem o)

TeI

(1) (AM

(2) (AR, B)-(), (©)-(), DHIV
(3)  (AH1V), B)-(1), (O)-(IL), D)-(I
(&) (A)-(Im), (BHIV), (C-(1), (D)-(I
Options:

87827082405. 1
87827082406. 2
87827082407. 3

87827082408. 4

Question Number : 118 Question Id : 87827020821 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

dat-11
() e, ey e
() SaTsA, HETe SRl
() *Har=A, Hehdld FAHMHT
(V) jer=d, Hfem sHee



et =4t @ oot Ay wfafved 1 ¢ 96t = foeht e wfafved) 1 e foem o)
LA w11

(A) S i () e Rl
(B) o e wd fohw 3'q m
(C) ool ¥ g A f e | () Tsfed
(D) T (IV)

33 9 T T SARe] ok M A
(1) (A, B)-IV), (O-), (D)-(I)
2) (A1), B)-0, (O-1v), (D)-0)
(3)  (A}1IV), (B)-(I), (C)-(1), (D)-I)
(4)  (AIV), B)-(I), €}, (D))
Options:

878270824009. 1

87827082410. 2

87827082411. 3

87827082412. 4

Question Number : 118 Question Id : 87827020821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et =4t @ oot Ay wfafved 1 ¢ 96t = foeht e wfafved) 1 e foem o)
LA w11

(A) S i () e Rl
(B) o e wd fohw 3'q m
(C) ool ¥ g A f e | () Tsfed
(D) T (IV)

33 9 T T SARe] ok M A
(1) (A, B)-IV), (O-), (D)-(I)
2) (A1), B)-0, (O-1v), (D)-0)
(3)  (A}1IV), (B)-(I), (C)-(1), (D)-I)
(4)  (AIV), B)-(I), €}, (D))
Options:

878270824009. 1

87827082410. 2

87827082411. 3

87827082412. 4

Question Number : 119 Question Id : 87827020822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el =) = fexit ey wfafved @1 g =€t = feei fodl wfafied &1 w3 e 4
LA w11

(A) faedt #re () m fermedf

(B) PEATP (1) e =% H
(C) diels T () . ), ot el
(D) =T (IV) e Hig 9l
3% % e o fowe M

(1) (A-I), B)-1V), CHY, (D)-(Im)

(2)  (AHD, B(I), (C-(1IV), (D)-(I)

(3)  (AMI), (B)-(1IV), (C-D), (D)-0)

(4)  (AHIV), (B)-(I), (CHI), (D)-(T)

Options :

87827082413. 1
87827082414. 2
87827082415. 3
87827082416. 4

Question Number : 119 Question Id : 87827020822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el =) = fexit ey wfafved @1 g =€t = feei fodl wfafied &1 w3 e 4
LA w11

(A) faedt #re () m fermedf

(B) PEATP (1) e =% H
(C) diels T () . ), ot el
(D) =T (IV) e Hig 9l
3% % e o fowe M

(1) (A-I), B)-1V), CHY, (D)-(Im)

(2)  (AHD, B(I), (C-(1IV), (D)-(I)

(3)  (AMI), (B)-(1IV), (C-D), (D)-0)

(4)  (AHIV), (B)-(I), (CHI), (D)-(T)

Options :

87827082413. 1
87827082414. 2
87827082415. 3
87827082416. 4

Question Number : 120 Question Id : 87827020823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el =) = fexit ey wfafved @1 g =€t = feei fodl wfafied &1 w3 e 4
iﬁﬁl w11

(A) ) e

(B) T () T
€ @ () e g
(D) fmem (V) @

3 A RS A e fosey T

(1) (AHD), (B1(T), (C-(V), (D))

@ (A)1), (BRI, (O, (D)-V)

3) (AHD), (B, (O-(IV), (D)-(1)

(4)  (AHIV), (B)-(ID), (O)-(D), (D)-(1)

Options:

87827082417.1
87827082418. 2
87827082419. 3
87827082420. 4

Question Number : 120 Question Id : 87827020823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el =) = fexit ey wfafved @1 g =€t = feei fodl wfafied &1 w3 e 4
iﬁﬁl w11

(A) ) e

(B) T () T
€ @ () e g
(D) fmem (V) @

3 A RS A e fosey T

(1) (AHD), (B1(T), (C-(V), (D))

@ (A)1), (BRI, (O, (D)-V)

3) (AHD), (B, (O-(IV), (D)-(1)

(4)  (AHIV), (B)-(ID), (O)-(D), (D)-(1)

Options:

87827082417.1
87827082418. 2
87827082419. 3
87827082420. 4

Question Number : 121 Question Id : 87827020824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el =) = fexit ey wfafved @1 g =€t = feei fodl wfafied &1 w3 e 4
LA w11

(A) TRETE il () ST
(B) e d W (1) foqarome
(C) (IIT) -
(D) fremfea et (IV) H&mm

3 A RS A e fosey T

(1) (A)-(1), BRI, (O-IV), (D)-(IH)

(2)  (AHIV), (B)-(), (C)-(T), (D)-(II)

() (A)-(IV), (B)-{I), (C)-(), (D)-(]

(4)  (AHD, (BT, (C)-(ID), (D}-IV)

Options :

87827082421. 1
87827082422. 2
87827082423. 3

87827082424. 4

Question Number : 121 Question Id : 87827020824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el =) = fexit ey wfafved @1 g =€t = feei fodl wfafied &1 w3 e 4
LA w11

(A) TRETE il () ST
(B) e d W (1) foqarome
(C) (IIT) -
(D) fremfea et (IV) H&mm

3 A RS A e fosey T

(1) (A)-(1), BRI, (O-IV), (D)-(IH)

(2)  (AHIV), (B)-(), (C)-(T), (D)-(II)

() (A)-(IV), (B)-{I), (C)-(), (D)-(]

(4)  (AHD, (BT, (C)-(ID), (D}-IV)

Options :

87827082421. 1
87827082422. 2
87827082423. 3

87827082424. 4

Question Number : 122 Question Id : 87827020825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et =4t @ oot Ay wfafved 1 ¢ 96t = foeht e wfafved) 1 e foem o)
EE! w1
(A) e Teh omi wftafid ()
T T
(B) RV T T AU e M WS
() foere® & WaAuRa Med () oI Q o
D) §HN FTH W ART e (V) <% oA
33 T RS S e fosed T
(1) (AM), (B)-(I), (O-(IV), (D)-(I)
[

(A}
2) (A, B)-(IV), (©)-(D), (D)
() (AR, B)-(0), (LD, (D}IV)
(&) (AH), (BHI), ©-0, D)-(IV)

Options:

87827082425. 1
87827082426. 2
87827082427. 3

87827082428. 4

Question Number : 122 Question Id : 87827020825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et =4t @ oot Ay wfafved 1 ¢ 96t = foeht e wfafved) 1 e foem o)
EE! w1
(A) e Teh omi wftafid ()
T T
(B) RV T T AU e M WS
() foere® & WaAuRa Med () oI Q o
D) §HN FTH W ART e (V) <% oA
33 T RS S e fosed T
(1) (AM), (B)-(I), (O-(IV), (D)-(I)
[

(A}
2) (A, B)-(IV), (©)-(D), (D)
() (AR, B)-(0), (LD, (D}IV)
(&) (AH), (BHI), ©-0, D)-(IV)

Options:

87827082425. 1
87827082426. 2
87827082427. 3

87827082428. 4

Question Number : 123 Question Id : 87827020826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el =) = fexit ey wfafved @1 g =€t = feei fodl wfafied &1 w3 e 4
LA w11

(A) d: FH A ) "

(B) M () o

(C) gfd frd ai-=amm () Fd%

(D) HIGTATCEI4 Il (IV) 3 93
3% R T a1 feed A

(1) (A)D, B)-IV), (C-1), (D)

(2) (A1), B)-1V), (CR(m), (D)-J)

(3) (A}, B}-1IV), (C)-), (D)-0)

(4) (A, (B)-1), (©)-(D), (D)}-IV)

Options:

87827082429. 1
87827082430. 2
87827082431. 3

87827082432. 4

Question Number : 123 Question Id : 87827020826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el =) = fexit ey wfafved @1 g =€t = feei fodl wfafied &1 w3 e 4
LA w11

(A) d: FH A ) "

(B) M () o

(C) gfd frd ai-=amm () Fd%

(D) HIGTATCEI4 Il (IV) 3 93
3% R T a1 feed A

(1) (A)D, B)-IV), (C-1), (D)

(2) (A1), B)-1V), (CR(m), (D)-J)

(3) (A}, B}-1IV), (C)-), (D)-0)

(4) (A, (B)-1), (©)-(D), (D)}-IV)

Options:

87827082429. 1
87827082430. 2
87827082431. 3

87827082432. 4

Question Number : 124 Question Id : 87827020827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et =4t @ oot Ay wfafved 1 ¢ 96t = foeht e wfafved) 1 e foem o)
I g

(A) TS W I g1 DI, AT 4| () WeH e e

B) gel I 3 e, g Pt o113 | () HEd S+ garm
3 I ST TS, FResd 39 A1

() VI3-78 FHE 1 G-+ % | (IIl) g et g

(D) T T, A1 T, 5 el TR (IV) IR s+ g3
el firee o &, o TAE AR

3% T RS o e fowen T

(1) (AR, BIIV), (©-(1), (D)-(I)

2)  (AHID, B)-(1), (C)-(IID), (D}-IV)

() (AHD, (BRI, (C(IV), (D)-(I)

(4)  (A)M(IV), (B)-(IT), (C)-(T), (D)-(1)

Options :

87827082433. 1
87827082434. 2
87827082435. 3

87827082436. 4

Question Number : 124 Question Id : 87827020827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et =4t @ oot Ay wfafved 1 ¢ 96t = foeht e wfafved) 1 e foem o)
I g

(A) TS W I g1 DI, AT 4| () WeH e e

B) gel I 3 e, g Pt o113 | () HEd S+ garm
3 I ST TS, FResd 39 A1

() VI3-78 FHE 1 G-+ % | (IIl) g et g

(D) T T, A1 T, 5 el TR (IV) IR s+ g3
el firee o &, o TAE AR

3% T RS o e fowen T

(1) (AR, BIIV), (©-(1), (D)-(I)

2)  (AHID, B)-(1), (C)-(IID), (D}-IV)

() (AHD, (BRI, (C(IV), (D)-(I)

(4)  (A)M(IV), (B)-(IT), (C)-(T), (D)-(1)

Options :

87827082433. 1
87827082434. 2
87827082435. 3

87827082436. 4

Question Number : 125 Question Id : 87827020828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et 54 @ fexit Afcd wofved 1 ¢ =t = et fodl wfafved 1 w8 foem o)
LA w11

(A) e ) R
(B) Rl () &
(C) T () &R
(D) THH (IV) I
3 A RS A e fosey T

(1) (A, B)-IV), (C-1), (D))

(2)  (A)L), B)-), (©)-1), (D}-IV)

(3) (AR, (B)-(I), ©)-{1V), (D)-0)

(4)  (A)(D), (B}-(I), (C)-(IID), (D)-(IV)

Options:

87827082437. 1
87827082438. 2
87827082439. 3
87827082440. 4

Question Number : 125 Question Id : 87827020828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et 54 @ fexit Afcd wofved 1 ¢ =t = et fodl wfafved 1 w8 foem o)
LA w11

(A) e ) R
(B) Rl () &
(C) T () &R
(D) THH (IV) I
3 A RS A e fosey T

(1) (A, B)-IV), (C-1), (D))

(2)  (A)L), B)-), (©)-1), (D}-IV)

(3) (AR, (B)-(I), ©)-{1V), (D)-0)

(4)  (A)(D), (B}-(I), (C)-(IID), (D)-(IV)

Options:

87827082437. 1
87827082438. 2
87827082439. 3
87827082440. 4

Question Number : 126 Question Id : 87827020829 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(C) Sfear

(D) St

(E) ufvds

'3 =1 W Sard AR foskeq M A
() (D), (A), (B), (O)

(2) (A), (D), (©), (B)

(3) (B), (©) (A) (D)

(4) (©), (B) (D), (A)

Options :

87827082441. 1
87827082442. 2
87827082443.3

87827082444. 4

Question Number : 126 Question Id : 87827020829 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(C) Sfear

(D) St

(E) ufvds

'3 =1 W Sard AR foskeq M A
() (D), (A), (B), (O)

(2) (A), (D), (©), (B)

(3) (B), (©) (A) (D)

(4) (©), (B) (D), (A)

Options :

87827082441. 1
87827082442. 2
87827082443.3

87827082444. 4

Question Number : 127 Question Id : 87827020830 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) I, e, ST O O 39 S T € o T e A e e A
(B) I, T

() Fel, &
(
(£

g

D), e

) i, T
ﬁﬂﬁﬁ\_ﬂaﬂ@ﬁw]ﬂﬁ:
(1)
2
3
(4

=

(©)
) |
)
)
Options :
87827082445. 1
87827082446. 2
87827082447. 3

87827082448. 4

Question Number : 127 Question Id : 87827020830 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) I, e, ST O O 39 S T € o T e A e e A
(B) I, T

() Fel, &
(
(£

g

D), e

) i, T
ﬁﬂﬁﬁ\_ﬂaﬂ@ﬁw]ﬂﬁ:
(1)
2
3
(4

=

(©)
) |
)
)
Options :
87827082445. 1
87827082446. 2
87827082447. 3

87827082448. 4

Question Number : 128 Question Id : 87827020831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



3 9 % e e fered T
(1) (&) D), ) (€
(2 () ©) D) @A
(3) (D) () (4)

4 @) € ®)

@

)
) )
) )
) D

—
——

Options :

87827082449. 1
87827082450. 2
87827082451.3

87827082452. 4

Question Number : 128 Question Id : 87827020831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



3 9 % e e fered T
(1) (&) D), ) (€
(2 () ©) D) @A
(3) (D) () (4)

4 @) € ®)

@

)
) )
) )
) D

—
——

Options :

87827082449. 1
87827082450. 2
87827082451.3

87827082452. 4

Question Number : 129 Question Id : 87827020832 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fee, e, TR v, S M Fatd & 30 0 & Wl 3% 9 T T g RE A e
A) RN

(

(B) waﬁawm

(C)  Sferate

(D) & i

34 RS A SR oy T 0
(1) (4) (©) (D) (B)

(2 (B), (D), (C) (4)

) (D) @) ) (A)

(4 (€), (D) () (A)
Options :

87827082453. 1
87827082454. 2
87827082455. 3

87827082456. 4

Question Number : 129 Question Id : 87827020832 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fee, e, TR v, S M Fatd & 30 0 & Wl 3% 9 T T g RE A e
A) RN

(

(B) waﬁawm

(C)  Sferate

(D) & i

34 RS A SR oy T 0
(1) (4) (©) (D) (B)

(2 (B), (D), (C) (4)

) (D) @) ) (A)

(4 (€), (D) () (A)
Options :

87827082453. 1
87827082454. 2
87827082455. 3

87827082456. 4

Question Number : 130 Question Id : 87827020833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



£, 3 TR <, i oS0 § T SR S A S W E e TR g RE
(A) e

(B) wiaHt

(C) W

(D) @

§'< T s ST e fosey M 9

(1) (&), B, €) D

(A )
2) (). ©) D) @A)
(3 (©) ©) (B)(4)
() (4), ©) D), B)
Options :

87827082457. 1
87827082458. 2
87827082459. 3

87827082460. 4

Question Number : 130 Question Id : 87827020833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



£, 3 TR <, i oS0 § T SR S A S W E e TR g RE
(A) e

(B) wiaHt

(C) W

(D) @

§'< T s ST e fosey M 9

(1) (&), B, €) D

(A )
2) (). ©) D) @A)
(3 (©) ©) (B)(4)
() (4), ©) D), B)
Options :

87827082457. 1
87827082458. 2
87827082459. 3

87827082460. 4

Question Number : 131 Question Id : 87827020834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



o fo 7o, PP o, A R T R R0 R, A o B P o SR C S R A
T Y- ¢ e A9 U

D) S-S
33 9 %% e el foe 0 1
(1) (D), (C), (A), B)
(2) (D) (©) (B), (4)
() (4 (8 €) (D
(4 (©), (B) (A) (D

=
po =

o=
=

D

) D
Options:
87827082461. 1
87827082462. 2
87827082463. 3

87827082464. 4

Question Number : 131 Question Id : 87827020834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



o fo 7o, PP o, A R T R R0 R, A o B P o SR C S R A
T Y- ¢ e A9 U

D) S-S
33 9 %% e el foe 0 1
(1) (D), (C), (A), B)
(2) (D) (©) (B), (4)
() (4 (8 €) (D
(4 (©), (B) (A) (D

=
po =

o=
=

D

) D
Options:
87827082461. 1
87827082462. 2
87827082463. 3

87827082464. 4

Question Number : 132 Question Id : 87827020835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fovar s, T ¢ e, o i 1 e foe o 30 v el € e o @1 el
L€

(A) T

(B) el 25 S T

(€) WRE

(D) FEAH

3 T R T et fepey T 4
(1) ()():(D)f(B
2 (8 0
) )
(4 (C, (B) (D)

Options:

=

=
Zae
=

[==]

)
) )
) )
) )

=

87827082465. 1
87827082466. 2
87827082467. 3
87827082468. 4

Question Number : 132 Question Id : 87827020835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fovar s, T ¢ e, o i 1 e foe o 30 v el € e o @1 el
L€

(A) T

(B) el 25 S T

(€) WRE

(D) FEAH

3 T R T et fepey T 4
(1) ()():(D)f(B
2 (8 0
) )
(4 (C, (B) (D)

Options:

=

=
Zae
=

[==]

)
) )
) )
) )

=

87827082465. 1
87827082466. 2
87827082467. 3
87827082468. 4

Question Number : 133 Question Id : 87827020836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el I, foTaeTe, o T o S I S < 39 G T 3 o (R A
(A) Sl SHfedl T 31U 3 ST 7 ; 3 ST
(B) St o < fofw i
(
(

D) T &9 : e 1 Fde
3% 01 %3 9 e Foed 1 94

(1) (&), (©) D) ¢
2) () () (D) (A)
) (C), (8) (D) (4)
4 (C), () (A) (D)
Options :

87827082469. 1
87827082470. 2
87827082471. 3

87827082472. 4

Question Number : 133 Question Id : 87827020836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el I, foTaeTe, o T o S I S < 39 G T 3 o (R A
(A) Sl SHfedl T 31U 3 ST 7 ; 3 ST
(B) St o < fofw i
(
(

D) T &9 : e 1 Fde
3% 01 %3 9 e Foed 1 94

(1) (&), (©) D) ¢
2) () () (D) (A)
) (C), (8) (D) (4)
4 (C), () (A) (D)
Options :

87827082469. 1
87827082470. 2
87827082471. 3

87827082472. 4

Question Number : 134 Question Id : 87827020837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FoeeeT, 00 e, T o - T, R R fo < 30 3 0l 5 ' e Gl 1 el €1 8
WQ:

(A) T

B) T

€ ¥gH

(D) Wd e

3 T R T et fepey T 4
(1) ()(B)f()r(D)
@ ) (A
) (D) (C)f (B), (A)
(4 (), (D) (A) (B

)
)
Y A, (B

=
——

Options:

87827082473. 1
87827082474. 2
87827082475.3
87827082476. 4

Question Number : 134 Question Id : 87827020837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FoeeeT, 00 e, T o - T, R R fo < 30 3 0l 5 ' e Gl 1 el €1 8
WQ:

(A) T

B) T

€ ¥gH

(D) Wd e

3 T R T et fepey T 4
(1) ()(B)f()r(D)
@ ) (A
) (D) (C)f (B), (A)
(4 (), (D) (A) (B

)
)
Y A, (B

=
——

Options:

87827082473. 1
87827082474. 2
87827082475.3
87827082476. 4

Question Number : 135 Question Id : 87827020838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T ) T, YTl ) T, S < g 5 1 g 1 2y, 30 e 3 1 e
U

(A) TR

B W

(C) el Tfen

(D) T

———

38 A R A e e T
(1) ) (€ (4),0)

(2 &) B © O

(3) (B), (D), (4),(C

(4 @) (&) €[
Options :

87827082477.1
87827082478. 2
87827082479. 3

87827082480. 4

Question Number : 135 Question Id : 87827020838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T ) T, YTl ) T, S < g 5 1 g 1 2y, 30 e 3 1 e
U

(A) TR

B W

(C) el Tfen

(D) T

———

38 A R A e e T
(1) ) (€ (4),0)

(2 &) B © O

(3) (B), (D), (4),(C

(4 @) (&) €[
Options :

87827082477.1
87827082478. 2
87827082479. 3

87827082480. 4

Question Number : 136 Question Id : 87827020839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R AT e T 7/ 3 (A) 900R A e o 3 390 (R) T i o 2
SRR (A): S A T oA AT S € T e € T e oAy

Ve e 2 9 7
TRR): 90T IR T e o R PG I o
é%ﬂﬁﬁww@ﬁwﬂ@-

1) (A)TR) TR R), (A) TR FAO
) (A)T(R)TR AT AT (R), (A) T RE TR
3) (A) T (R) T U

§) (A)TEUT R) T

Options:

87827082481. 1
87827082482. 2
87827082483.3

87827082484. 4

Question Number : 136 Question Id : 87827020839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R AT e T 7/ 3 (A) 900R A e o 3 390 (R) T i o 2
SRR (A): S A T oA AT S € T e € T e oAy

Ve e 2 9 7
TRR): 90T IR T e o R PG I o
é%ﬂﬁﬁww@ﬁwﬂ@-

1) (A)TR) TR R), (A) TR FAO
) (A)T(R)TR AT AT (R), (A) T RE TR
3) (A) T (R) T U

§) (A)TEUT R) T

Options:

87827082481. 1
87827082482. 2
87827082483.3

87827082484. 4

Question Number : 137 Question Id : 87827020840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R AT e T 7/ 3 (A) 900R A e o 3 390 (R) T i o 2
SO (A): SR S T oI o o e e i o A o o

T T alfe 7
TR ST = ik el oIt o 1 s i ) e 2 €
é%ﬂﬁﬁww@ﬁwﬂ@-

1) (A)TR) TR R), (A) TR FAO
) (A)T(R)TR AT AT (R), (A) T RE TR
3) (A) T (R) T U

§) (A)TEUT R) T

Options:

87827082485. 1
87827082486. 2
87827082487.3

87827082488. 4

Question Number : 137 Question Id : 87827020840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R AT e T 7/ 3 (A) 900R A e o 3 390 (R) T i o 2
SO (A): SR S T oI o o e e i o A o o

T T alfe 7
TR ST = ik el oIt o 1 s i ) e 2 €
é%ﬂﬁﬁww@ﬁwﬂ@-

1) (A)TR) TR R), (A) TR FAO
) (A)T(R)TR AT AT (R), (A) T RE TR
3) (A) T (R) T U

§) (A)TEUT R) T

Options:

87827082485. 1
87827082486. 2
87827082487.3

87827082488. 4

Question Number : 138 Question Id : 87827020841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R AT e T 7/ 3 (A) 900R A e o 3 390 (R) T i o 2
O (A): R R S e A e A A <) fe e ) e

i vfed 71
TRR): 3% 70 ey o o e eh o 7 2
é%ﬂﬁﬁww@ﬁwﬂ@-

1) (A)TR) TR R), (A) TR FAO
) (A)T(R)TR AT AT (R), (A) T RE TR
3) (A) T (R) T U

§) (A)TEUT R) T

Options:

87827082489. 1
87827082490. 2
87827082491.3

87827082492. 4

Question Number : 138 Question Id : 87827020841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R AT e T 7/ 3 (A) 900R A e o 3 390 (R) T i o 2
O (A): R R S e A e A A <) fe e ) e

i vfed 71
TRR): 3% 70 ey o o e eh o 7 2
é%ﬂﬁﬁww@ﬁwﬂ@-

1) (A)TR) TR R), (A) TR FAO
) (A)T(R)TR AT AT (R), (A) T RE TR
3) (A) T (R) T U

§) (A)TEUT R) T

Options:

87827082489. 1
87827082490. 2
87827082491.3

87827082492. 4

Question Number : 139 Question Id : 87827020842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



RAFR I T/ 7 (4) 39 A0 PG 3R 3 30 (R) 9 A F
A (A): T A R © P v - T fod o 3 9 e T 4 o

G 7|

TR oo e i o el e o -t fren hefet e 9 g o
T PR U

3% T R 9 A e T 0

(1) (4)3 (R) 73 (), (4) T %E FIY
(D) (A (R) SR 3% 7 R), (4) % % O WY
() (4)FFTaR) T

W) (AT R TR

Options :

87827082493. 1
87827082494. 2
87827082495. 3

87827082496. 4

Question Number : 139 Question Id : 87827020842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



RAFR I T/ 7 (4) 39 A0 PG 3R 3 30 (R) 9 A F
A (A): T A R © P v - T fod o 3 9 e T 4 o

G 7|

TR oo e i o el e o -t fren hefet e 9 g o
T PR U

3% T R 9 A e T 0

(1) (4)3 (R) 73 (), (4) T %E FIY
(D) (A (R) SR 3% 7 R), (4) % % O WY
() (4)FFTaR) T

W) (AT R TR

Options :

87827082493. 1
87827082494. 2
87827082495. 3

87827082496. 4

Question Number : 140 Question Id : 87827020843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R AT e T 7/ 3 (A) 900R A e o 3 390 (R) T i o 2
S (A): o 7 g G g @ i e € 1 30 2 € 9 T U i

e Ay A T, 3T W T
TWE: W2 9ET 9 d e om 3w & fufo & 38w
é%ﬂﬁﬁww@ﬁwﬂ@-

1) (A)TR) TR R), (A) TR FAO
) (A)T(R)TR AT AT (R), (A) T RE TR
3) (A) T (R) T U

§) (A)TEUT R) T

Options:

87827082497. 1
87827082498. 2
87827082499. 3

87827082500. 4

Question Number : 140 Question Id : 87827020843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



@ T R0 T 7/ 3 (A) VIR A e R 1 3 (R) W A

S (A): o 7 g G g @ i e € 1 30 2 € 9 T U i
e ) Ay gt T, TU W T

TAER): W2 ave T @i G e oum 3 w3 fofa & 88w O

30 W3 T o el

(1) (A)TR)TRIFTTR), (A) TR FO

() () R)TIETE R), (4)7 % FHT

3) (A)mUTR) T

4) (AU (R) 3T

Options :

87827082497. 1

87827082498. 2

87827082499. 3

87827082500. 4

Sub-Section Number : 2
Sub-Section Id : 878270927
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827020844 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



T f gy T O G L F < et < W e et fore 1 940

e T s fee e % e 1 feom o o g ) o 2 9 o e A A v o 7 -
I T 1 TG 10 | e o 15 9 ) e e o 0 ) R 0 e A 3
TE9 1 9% o 2 0| R o 0 5 1 59 o, 6 ¢ €1 S0 9 e, o7 frgen o R o)
R 1 9T ) ) 5 T T TR T | R T T 9 ) 2 7 | o T ¢ g 9
) o - T R 1 A T 34 11 G ) ) T T € e ST U 3, e
T, T, G, A T 7 4 S 9 S AR A 1 X1 e o Y A R A €
o 5 ) 0 i 1 o ) o e 0 ) v o e 7

Sub questions

Question Number : 141 Question Id : 87827020845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TS < Hden fei faeemi 7 -

(1) Hdel TSl § G ST I 371Ee 7|

(2) Ugs ¥ QA HE a1 wifw faern S A3 gidl |
(3) TES ¥ VRR T AIS S d@ead o gial Ul

(4) A < g e < g faam s Sidt
Options :

87827082501. 1

87827082502. 2

87827082503. 3

87827082504. 4

Question Number : 142 Question Id : 87827020846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



3TdehTd Kok
(1) =< T hE ST 73 Bial |
(2) ok <1 dg 72 dict W HET < Sy gial U
(3) TH-TY g ¥ < <yl shien g Bigr U |
(4) =g e <1 THE g
Options :
87827082505. 1
87827082506. 2
87827082507. 3
87827082508. 4

Question Number : 143 Question Id : 87827020847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-

HqH .

(1) =< =9 d 3 I 8ig 7|

(2) d hfer =g o W dfekd = 791 AlS ST YIS < Hehal U |
(3) EIEs T <1 Iid gier T

(4) = HEY < TRIF S I hiell ARG T J=erd |
Options :

87827082509. 1

87827082510. 2

87827082511. 3
87827082512. 4

Question Number : 144 Question Id : 87827020848 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

(1) < 3% =R = 22 hidl «igd 26 TR 991 gie 7|

(2) = Uik gifed A1

(3) = Yeferd g'F dfad <1 gek siferdl ehien dehg Bicl T
(4) 33 HINM 9HI ST T

Options :

87827082513. 1

87827082514. 2

87827082515. 3

87827082516. 4

Question Number : 145 Question Id : 87827020849 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
‘o’ 89
(1) = 272e dfaa gifgai 71
(2) © Fol T 144 qifeHi T
(3) TFRI T AT B T
(4) = FHH T 9@ S fa=r 1 fere =8 Fien
Options :
87827082517. 1
87827082518. 2

87827082519. 3

87827082520. 4

Question Id : 87827020844 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension

e fer ey o ¢ fr < el < 5 e et Fre 40

e T e o e o fon 2 o o o g 01 0o 9 o oy 9 9 0 o 3 -
I T 1 T | g e T S 9 ) e A o ) ) e e 9 A
T3 10 i ) €| TR Q) 5 O, 5 61 1 S T, W g o
R 1 T 1 Y 5 ) T T T | Y T I &1 2 e 7 | G T ¢ g 9
) o - T R 1 T 34 11 G 61 ) T T € et ST U 3, e
T, R, R, T 0 3 4 S % S A A ) e o Y A R A €
6 o Sl 0 e 1 e R o R S e o s o o

Sub questions

Question Number : 141 Question Id : 87827020845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TSl = Aden fei faeemi 7 -

(1) Hdel T S G AST I e 71

(2) Ugs = oA e a1 wifwn faern S A% gidl |
(3) TE: 9 UL AIS S dEead s gl U

(4) Had < g faa < g faem s Sidt
Options :

87827082501. 1

87827082502. 2

87827082503. 3

87827082504. 4

Question Number : 142 Question Id : 87827020846 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

3T Yoo :
(1) = < HE &6 A8 Bial |
(2) ok <1 dg 72 didt W A < Sy gial U
(3) FH-f9 2 B2 & =<3l e g 2iar U |
(4) =G AL <7 I TR FiT U
Options :
87827082505. 1
87827082506. 2

87827082507. 3
87827082508. 4

Question Number : 143 Question Id : 87827020847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HHE :

(1) =< 9K d 3 38 8ie 7|

(2) = hfer =g o @R dferd = 191 AlS ST 3UAIS < HWeha1 U |
(3) s e g1 7 Bier T

(4) & FIRI T THIF S 3H HiAT SARI TH J=ad |

Options:

87827082509. 1
87827082510. 2
87827082511. 3
87827082512. 4

Question Number : 144 Question Id : 87827020848 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
(1) < 3% I 9 22 Al oigd 26 TR 901 Bie |
(2) = Uik gifedi A1
(3) = Ul g'S dfekd <1 ok iR shicll 9iRd =gl U |
(4) 39 I oI ST T |
Options :
87827082513. 1
87827082514. 2

87827082515. 3

87827082516. 4

Question Number : 145 Question Id : 87827020849 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘pued’ 99 :
(1) = 2722 dfaa gifgai 71
(2) ¥ e qE 144 gifedi 71
(3) TFH T AU BT U
(4) < FH TH W@ S fo=ar g1 famo AF Fian
Options :
87827082517. 1
87827082518. 2
87827082519. 3
87827082520. 4

Sub-Section Number : 3



Sub-Section Id : 878270928
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 87827020850 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (146 to 150)

Question Label : Comprehension

e et 2 g o ofd 90 o fe ¢ et < g e gt forved 1

) 1 R S e ol o 7 1 e 0 2 0 e o 1 e € 38
7§49 G 3 33 Ge 130T ) 99 oA A ) e e T o 8w A
T 307 T (GO, T (6, S, 205, i, (1) @ Fgfa g f 9wl g
139 512 TR ) A 0 R 0 6 ) ok O 0 ) G e S e 1| ',
T WIS AN S SR T T 1 T T
T AT W T VT YW T8 T e e o A e g
0 i o TR U

ol T T 3 9 s 9 0 o o

e e (30 o <t o < - e e o €, 90 e
ST 0 1 D o U 3 A ) 3 S - < o - 9 T )
QAT (35 58 ) 9l o 1 R T 09 0 ) S (90 ) €0 e, &
ST 3 971 et 8 9 0 e 5 (W) e 4 0, e, g o ) o
T Y 7 e el R 0 e o v o g 0 ' e’ @ e 9

TR T 1 0 e v o e T e S 7 T < 9 ) 00 TR
U faa 909 3 (G ) 1 (3 ) T (e ) e o) § 9 (17) 9 9 9

0 7 ) o 0 et e 7 ) 0 e € 0 TS e T2 9091 41
ST 2 A TG oy T g i ¥ e gt o 71 ‘el ' g 34 e 9 e
o TR U PR -9 1 4 1Y 9 9 9 7| 09 el T ' % 3 f e -9 T
ETErcl



Sub questions

Question Number : 146 Question Id : 87827020851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

*

3’2 9 Ioa1 P AY AT FHU-FIQ IS :
1) R — A
2) R — Al
3) d@E — 9N
4) gedl — g

Options :

(
(
(
(

87827082521.1
87827082522. 2
87827082523. 3

87827082524. 4

Question Number : 147 Question Id : 87827020852 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

MG AR SN A S AR ¥se 31 S foad ®9 T

(1) HEHS
(2) HelS
(3) HRIS
(4) HeRS
Options :

87827082525. 1

87827082526. 2



87827082527. 3

87827082528. 4

Question Number : 148 Question Id : 87827020853 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

STTATGRAT hRUT 378 g = A Y S I3

(1) drE —
(2) @ —
(3) Rl — =l
(4) = — =i
Options :

87827082529. 1
87827082530. 2
87827082531. 3

87827082532. 4

Question Number : 149 Question Id : 87827020854 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘Far' 9 T v g -9 e e | U

(1) &A=
(2) HE
(3) fegfd
(4)
Options :

87827082533. 1



87827082534. 2
87827082535. 3

87827082536. 4

Question Number : 150 Question Id : 87827020855 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

SR 9T -8 3 R0 G LA S goh W 1Y <8 weh U

1
(2) W
(3) =
(4)
Options :

87827082537. 1
87827082538. 2
87827082539. 3

87827082540. 4

Question Id : 87827020850 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension



T e T T o 0 o o et 2 e e g e 1t o

T 1 R S e o Tt 7 1 e 0 S 0 3 v 4 e € 58
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TR 4307 % 9 (GO, T (9, T, 205, i, () @ Fgfa 3 f 9 el g @
3 51 2 ol T ) A R R ) i e g W 4 g e S e 7| 97,
TIP I AR S ORI T 70 1T T
90T AR W T VT 0 T8 T e e o A U g
0 i 1 e U

o6 T T 9 T 3 0 W s W 0 e W o

e e 2 (30 o <t o - e e o 90 e
ST o = 0 ol U e ) e W -V o o o G U1 e
R0 (35 58 ) 9 9 1 0 % o 09 0 ) ST (90 ) €0 e, 9
SR e 421 T et o e 03 e 9 90 () e € e, G, s & 9 e 1
R 9% 7 e ol R 9 e o a0 o g ' e’ @ e 9
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U o e () 3 (4 ) e (e v e fovrg) @ 0 (17) i i

3 0 e fr e 2 -t 3 R el R 0 2 W6 0TS e YR 61 1
ST e S g oy T e i ¥ g e 71 ‘el ' vg 2% e 9 e @
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EnfEr]

Sub questions

Question Number : 146 Question Id : 87827020851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



3'e = T P 1Y 9T HU-HIS ek :
(1) &0 — AR/
(2) W — AR
(3) @ — AR
(4) =& — &g

Options:

87827082521. 1
87827082522. 2
87827082523.3

87827082524. 4

Question Number : 147 Question Id : 87827020852 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

R 38l ST A& ddH 3R ves &1 Y5 foad s U

(1) W&
(2) A
(3) HIRIS
(4) WIS
Options :

87827082525. 1
87827082526. 2
87827082527. 3

87827082528. 4

Question Number : 148 Question Id : 87827020853 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

SAIER ShRUT 3¢ 9 oFe il HL S 9 A ¢

(1) drg — dwE
(2) o — g
(3) I — I
(4) =t — =i
Options :

87827082529. 1
87827082530. 2
87827082531. 3

87827082532. 4

Question Number : 149 Question Id : 87827020854 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘Tar' 9T v 9 Y-8 el e = U

(1) AT
(2) HA
(3) Temfa
(4) W
Options :

87827082533. 1
87827082534. 2
87827082535. 3

87827082536. 4

Question Number : 150 Question Id : 87827020855 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
SR WIN & -9 < HR0 G ea < 3k HeE 99 <8 e U
(1)

e ¥ B

(2)
(3)
(4)
Options :

87827082537. 1
87827082538. 2

87827082539. 3
87827082540. 4



